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Question Id : 93806613584 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The followmg table shows the marks scored by six students (A-F) in six different subjects $1 to 56 having 160, 160, 120,
120, 200 and 240 as maximum marks respectively. Based on the data in the table, answer the question that follow.

Student-wigse details of Marks Scored

Students Marks Scored in Subject
51 (Out of 160} 52 (Out of 53 (Out of | 84 (Out of | S5 (Out of | S6 (Out of

160) 120) 120) 200) 240)

A 76 24 66 36 154 144

B 120 100 84 76 136 132

C 128 72 64 70 144 160

D 84 130 96 84 104 168

E 64 128 a0 92 174 70

F 70 96 60 56 164 96

Sub questions

Question Number : 1 Question Id : 93806613585 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is overall percentage of marks scored by student A in all the subjects together?
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4.58 %
Options :
93806652901.
93806652902.
93806652903.
93806652904.

AW N =

Question Number : 2 Question Id : 93806613586 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the average marks scored in the subject S5 by all the students together?

1. 142

2. 144

3. 146

4. 148
Options :
93806652905. 1
93806652906. 2
93806652907. 3
93806652908. 4

Question Number : 3 Question Id : 93806613587 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What is the ratio of the total marks scored by student B to the total marks scored by student D?

I.26:27
2. 3637
3. 16711
4.46 :47
Options :
93806652909. 1
93806652910. 2
93806652911. 3
93806652912. 4

Question Number : 4 Question Id : 93806613588 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If for getting first division, a student needs to score minimum 60% marks in aggregate, then the
number of students getting first division is:

lad 3 =
b2 e LA

4.

Options :

93806652913. 1
93806652914. 2
93806652915. 3
93806652916. 4

Question Number : 5 Question Id : 93806613589 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The marks scored by student B and student C together in subject S1 is % more than the
marks scored by student A and student D together in the same subject.
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Options :

93806652917. 1
93806652918. 2
93806652919. 3
93806652920. 4



Question Id : 93806613584 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
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A 76 84 66 36 154 144
B 120 100 84 76 136 132
C 128 12 64 70 144 160
D 84 130 96 a4 104 168
E 64 128 a0 a2 174 70
F 70 96 60 36 164 96

Sub questions

Question Number : 1 Question Id : 93806613585 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
93806652901.
93806652902.
93806652903.
93806652904.
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Question Number : 2 Question Id : 93806613586 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a4t faenfdal &l fiarex 3d gRI favd s5 | Urdidl &1 3i9d 3id ol g2

1. 142

2. 144

3. 146

4. 148
Options :
93806652905. 1
93806652906. 2
93806652907. 3
93806652908. 4

Question Number : 3 Question Id : 93806613587 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faermil B gRT UG S 3idhi &1 faeneii D §RT UK Sl 3iebi & Y T 3UId g2

1.26:27
23637
3167517
4.46 : 47
Options :
93806652909. 1
93806652910. 2
93806652911. 3
93806652912. 4

Question Number : 4 Question Id : 93806613588 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
93806652913. 1
93806652914. 2
93806652915. 3
93806652916. 4

Question Number : 5 Question Id : 93806613589 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806652917. 1

93806652918. 2

93806652919. 3

93806652920. 4

Sub-Section Number : 2
Sub-Section Id : 938066540
Question Shuffling Allowed : Yes
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Question Number : 6 Question Id : 93806613590 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following assessment types would require to carry out an activity or produce a
product in order to demonstrate learning?

1. Formative Assessment

2. Portfolio Assessment

3. Summative Assessment
4, Performance Assessment

Options :

93806652921. 1
93806652922. 2
93806652923. 3
93806652924. 4

Question Number : 6 Question Id : 93806613590 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806652921. 1

93806652922. 2

93806652923. 3

93806652924 4

Question Number : 7 Question Id : 93806613591 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is true regarding extrinsic motivation?

1. It is based on factors not related to the activity itself.
2. It 1s the natural tendency to seek out personal interests.
3. It is the natural tendency to conquer challenges.
4. It motivates to do something when we don't need to do.
Options :
93806652925. 1
93806652926. 2
93806652927. 3
93806652928. 4



Question Number : 7 Question Id : 93806613591 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806652925. 1
93806652926. 2
93806652927. 3
93806652928. 4

Question Number : 8 Question Id : 93806613592 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the light of cognitive domain, arrange the following classroom questions (A-E) in the correct
ascending order -

A. Understanding
B. Evaluating

C. Analyzing

D. Applying

E. Remembering

Choose the correct answer from the options given below:

1.E,A,D,C,B

2.A,B,C,D.E

3 B.EAF D

4.C,E,B,A,D
Options :

93806652929. 1
93806652930. 2
93806652931. 3
93806652932. 4



Question Number : 8 Question Id : 93806613592 Question Type : MCQ Option Shuffling
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

: No Display Question
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Options :

93806652929. 1
93806652930. 2
93806652931. 3
93806652932. 4

Question Number : 9 Question Id : 93806613593 Question Type : MCQ Option Shuffling
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the basic objectives of Affective Domain?

A. Showing some new behaviour as a result of experience.
B. Acting consistently with the new value.

C. Attending to something in the environment.

D. Showing some definite involvement or commitment.

Choose the correct answer from the options given below:

1. A and B Only
2. C and D Only
3LJA,B,CandD
4. B and C Only

Options :

93806652933. 1
93806652934. 2
93806652935. 3
93806652936. 4

: No Display Question



Question Number : 9 Question Id : 93806613593 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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3.A,B,C3RD
4. HadB AR C
Options :
93806652933 1
93806652934. 2
93806652935. 3
93806652936. 4

Question Number : 10 Question Id : 93806613594 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
(Cognitive domain level ) (Suggested word)
A.|Evaluation I. |Define
B.|Knowledge II. | Appraise
C.| Analysis III. | Distinguish
D.|Application IV. [Demonstrate

Choose the correct answer from the options given below:

1. A-II, B-1, C-IIL, D-IV
2. A-1, B-I1, C-III, D-IV
3. A-IL B-1, C-IV, D-III
4. A-1, B-11, C-IV, D-III

Options :

93806652937. 1

93806652938. 2

93806652939. 3

93806652940. 4




Question Number : 10 Question Id : 93806613594 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. A-II, B-1, C-IIL, D-IV
2. A-1, B-11, C-IIL, D-1IV
3. AL B-1, C-IV, D-III
4. A-1, B-II, C-IV, D-III

Options :

93806652937. 1

93806652938. 2

93806652939. 3

93806652940. 4

Question Number : 11 Question Id : 93806613595 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘What 1s Historical Research method?

1. It collects facts by understanding the present situation. Sources of information include
interviews of experts, surveys etc.
2. It collects facts by predicting the future. Sources of information include questionnaire,
telephonic interviews etc.
3. It collects facts by going in the past in different periods. Sources of information include
written records, newspapers, diaries, letters, traveler's accounts, documents, etc.
4. It collects facts by using common sense and also tries to solve practical problems. Sources
of information include surveys and interviews.
Options :
93806652941. 1
93806652942. 2
93806652943. 3
93806652944. 4



Question Number : 11 Question Id : 93806613595 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806652941. 1
93806652942. 2
93806652943. 3
93806652944. 4

Question Number : 12 Question Id : 93806613596 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s modeling approach of research design?

1. The research problem is represented by a mathematical model. Solutions and conclusions
are derived from that model.
2. There is no research problem in this approach. Solutions and conclusions are derived from
the objectives.
3. The research problem is represented in the subjective manner. Solutions and conclusions are
derived from the research questions.
4. The research problem is represented in the objective manner. Solutions and conclusions are
derived from the research methodology.
Options :
93806652945. 1
93806652946. 2
93806652947. 3
93806652948. 4



Question Number : 12 Question Id : 93806613596 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
93806652945. 1
93806652946. 2

93806652947. 3
93806652948. 4

Question Number : 13 Question Id : 93806613597 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is a questionnaire?

1. It is data analysis instrument.
2. It is a data collection instrument.
3. It is data comparing instrument.
4. It is the analysis and result finding instrument
Options :
93806652949. 1
93806652950. 2
93806652951. 3
93806652952. 4

Question Number : 13 Question Id : 93806613597 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806652949. 1
93806652950. 2
93806652951. 3
93806652952. 4



Question Number : 14 Question Id : 93806613598 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements (A-D) most appropriately explains ‘Research Ethics’?

A. Tt states how to write a research report flawlessly.

B. It gives the methodology of researching within social norms.

C. It provides a common set of dos and don'ts of conducting an ethical research.
D. It protects the rights and welfare of research participants.

Choose the correct answer from the options given below:

1. C and D Only
2. Aand B Only
3. Aand C Only
4. B and D Only

Options :

93806652953. 1
93806652954. 2
93806652955. 3
93806652956. 4

Question Number : 14 Question Id : 93806613598 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806652953. 1
93806652954. 2
93806652955. 3
93806652956. 4




Question Number : 15 Question Id : 93806613599 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
(n= number of Trials; p= probability of Success) (Mean of Binomial Distribution)
A. |[n=16,p=0.8 I. [9.1
B. |n=21,p=06 II. |9.2
C.|n=13,p=0.7 III. |12.8
D. |n=23,p=04 IV. |12.6

Choose the correct answer from the options given below:

1. A-II, B-IV, C-1, D-III
2. AIIL B-1V, C-1, D-II
3. A-l, B-III, C-II, D-1IV
4. A-IIT, B-1, C-IV, D-II

Options :

93806652957. 1

93806652958. 2

93806652959. 3

93806652960. 4

Question Number : 15 Question Id : 93806613599 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

a1 a1
(n="TEIEIUT &} TET; p= BT B WS CLCE R )
A.|[n=16,p=0.8 I. |9.1
B.|n=21,p=06 IL [9.2
C. | n=13.p=0.7 IIL.| 12.8
D.[n=23,p=04 IV.]12.6
Id feu 7Y fqdhetl o 9 Tl SR &1 98- Bl ;

1. A-II, B-IV, C-1, D-III
2. A-IIL B-1V, C-1. D-II
3. A-l, B-III, C-II, D-IV
4. A-IIT, B-1, C-IV, D-1I

Options :

93806652957. 1

93806652958. 2

93806652959. 3

93806652960. 4



Question Number : 16 Question Id : 93806613600 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following is not a communication professional?

1. Journalist

2. Advertiser

3. News-reader

4. Smartphone
Options :
93806652961. 1
93806652962 2
93806652963. 3
93806652964. 4

Question Number : 16 Question Id : 93806613600 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
93806652961. 1
93806652962. 2
93806652963. 3
93806652964. 4

Question Number : 17 Question Id : 93806613601 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following is not a communication technology?

1. Smartphone

2. News-reader

3. Email

4. Whatsapp
Options :
93806652965. 1
93806652966. 2
93806652967. 3
93806652968. 4



Question Number : 17 Question Id : 93806613601 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806652965. 1
93806652966. 2
93806652967. 3
93806652968. 4

Question Number : 18 Question Id : 93806613602 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct chronology of release of the following films? (From earliest to the latest)

A. Alam Ara

B. Do Bigha Zameen
C. Raja Harish Chandra
D. Garam Hawa

E. Sholay

Choose the correct answer from the options given below:

BB O B T

2:58.B, D E

3.D.A.C,B.E

4. C,A.B.D.E
Options :

93806652969. 1
93806652970. 2
93806652971. 3
93806652972. 4



Question Number : 18 Question Id : 93806613602 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806652969. 1
93806652970. 2
93806652971. 3
93806652972. 4

Question Number : 19 Question Id : 93806613603 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following are the essential requirements of a film script-writing?

A. Shooting

B. Confrontation- Middle
C. Beginning-Set-up

D. Editing

E. Resolution- End

Choose the correct answer from the options given below:

1. B, C and E Only
2. Aand D Only
3.A,Dand E Only
4. A, C and D Only
Options :
93806652973. 1
93806652974. 2
93806652975. 3
93806652976. 4



Question Number : 19 Question Id : 93806613603 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 H U DH-3H [thed Yeh Ul odd ! 3fHard sraxgddid g2

A. e

B. HH[Edl- 4
C. fRY

D. Jurgd

E. GHIYH- 3{d

1< fau v fadedt @ € Tl ST I

|.Hdd B, C 3R E
2. Hadd A AR D
3. Hdd A, D 3R E
4. Had A, C 3R D
Options :
93806652973. 1
93806652974. 2
93806652975. 3
93806652976. 4

Question Number : 20 Question Id : 93806613604 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT

{Cities) (Institutes)
A.|New Delhi I. |Bhartendu Natya Akademy
B.|Pune II. | Asian Academy of Films & T.V.
C.|Noida III. | National Film Archive of India
D.|Lucknow IV. | National School of Drama

Choose the correct answer from the options given below:

1. A-I. B-II, C-IIL, D-IV
2. A-II, B-1V, C-1, D-III
3. A-IV, B-1IL. C-II, D-1
4. A-IIL, B-11, C-IV, D-1

Options :

93806652977. 1

93806652978. 2

93806652979. 3

93806652980. 4



Question Number : 20 Question Id : 93806613604 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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B.|q0 1. | TR UhSHt 3t ey Us Tidl
C.|mer ML | HR T AP e {fHearR
D.|qE3 IV. 781 T1ed faenay
4 feu T fadbedl # T UgT IR b1 994 DIfoIT -

1. A-1, B-II, C-IIL, D-IV
2. A-IL B-1IV, C-1, D-III
3.A-IV, B-II0, C-I1, D-1
4, A-II1, B-II, C-IV, D-1

Options :

93806652977. 1

93806652978. 2

93806652979. 3

93806652980. 4

Question Number : 21 Question Id : 93806613605 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the series given below if every digit is changed with the next number as per the number series
and 9 will change to 0, then how many 9 are there in the new series?
456879302000100134784998

fad (D =
e N ]

4.
Options :
93806652981. 1
93806652982. 2
93806652983. 3
93806652984. 4



Question Number : 21 Question Id : 93806613605 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 g | afe uds i (Sfore) ®I i JRadl & IR 3ATel Y| & 1Y dad el
SIIU 3R 9 §&d DR 0 81 WY, ol A3 4gell | fdve o gl

456879302000100134784998

[l g =
— e b2

4.
Options :
93806652981. 1
93806652982. 2
93806652983. 3
93806652984. 4

Question Number : 22 Question Id : 93806613606 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in a certain code language ‘DREAM’ is coded as ‘71692" and ‘CHILD’ is coded as ‘85437",
then how LEADER will be coded in that language?

1.369761
2.619736
3.637963
4. 367961

Options :

93806652985. 1
93806652986. 2
93806652987. 3
93806652988. 4

Question Number : 22 Question Id : 93806613606 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e BT YN T ‘DREAM’ B! <71692° & 0 H e ds [l T/ § 3R ‘CHILD® ®I
‘85437° U H P ds [T T ¢ ol YL UINT T LEADER DI $d Hds [Hal ST

1. 369761
2.619736
3.637963
4.367961
Options :
93806652985. 1
93806652986. 2
93806652987. 3
93806652988. 4




Question Number : 23 Question Id : 93806613607 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rohan buys an article at discount of 25%. At what percentage above the cost price should he sell
it to make a profit of 25% over the original price?

B IS T o T
Sy O
G‘\Ul‘d?ﬁ
h LA

L=y
oy Ln it
|

Options :

93806652989. 1
93806652990. 2
93806652991. 3
93806652992. 4

Question Number : 23 Question Id : 93806613607 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e [Hdl a¥g Bl 25% B B¢ R WIS 31 39 I8 & Tl Jed W 25 Ua=Id o 3fofd
6 & folU 3 IUD AT i U fohd Ufa=id 318 R &1 d1igu |

=}
L

Tad [od =
[= W = )
oy a1 00
LA

4.
Options :
93806652989. 1
93806652990. 2
93806652991. 3
93806652992. 4

= Y

7



Question Number : 24 Question Id : 93806613608 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement(s) is/are true?

A. If an athlete runs 200 metres in 24 seconds, then his speed is 30 Km/hr.
B. Sixty five percent of a number is 21 less than 4/5 of that number. The number is 150
C. A car is running at a speed of 108 Km/hr. The distance covered by car in 15 seconds is 450

metres.
D. Difference between 2 numbers A and B 1s 1660. If 7.5% of A is 12.5% of B, the value of A
& B 1s 4150 and 2200.

Choose the correct answer from the options given below:

1. A. B and C Only
2.B, C and D Only
3. Aand C Only
4. B and D Only

Options :

93806652993. 1
93806652994. 2
93806652995. 3
93806652996. 4

Question Number : 24 Question Id : 93806613608 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFfRad # U S 0 $UT 9 g/ 82

A. T1¢ DTS TYIC 24 Ydgd H 200 HIcX B SIS I § SUD! M 30 fhHl/ HeT g

B. [l TRST BT 65 UTRId 39 WS & 4/5 U 21 HH g | dl Ug WA 150

C.Efﬁﬁr{éns fdbeil./ g1 1 71 U I 5l § 39 BR gRI 15 gy H 450 Hiex &f gl UR
CAREIGIR]

D. 2 U3 A 3R B & §Id 3[R 1660 ¢l TG ADI7.5% B P 12.5% & dl A IR B BT HH
4150 3R 2200 8 |

4 fau v fadedt @ ¥ 9l S I

I.hdd A, B3R C
2. HIAB, C 3R D
3. Had A 3R C
4. A B 3R D

Options :

93806652993. 1
93806652994. 2
93806652995. 3
93806652996. 4



Question Number : 25 Question Id : 93806613609 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
{Question) (Answer)
X ¥
AIES =" then (x +5):(y+8) =7 I (241
If(x y)= 2 -1, then
B.l/ 2 1 > 2 ‘ II. |2 : 3
( ~y :(.1' +y )=.J
il If(f ~.-4y:] =4xy,then y; y=7? II.[3:5
D. Ei;B=3:4andB:C=8:9,thenA: wls:g

Choose the correct answer from the options given below:

1. A-1V, B-III, C-1, D-II
2. A-1, B-1I, C-1II, D-IV
3. A-Il, B-III, C-1, D-IV
4. A-IIL B-1V, C-1, D-II

Options :

93806652997. 1
93806652998. 2
93806652999. 3
93806653000. 4



Question Number : 25 Question Id : 93806613609 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

?Eﬁ-l i

(3dY)
A.?ﬂ?z ;,%Fﬁ (x+5):(p+8)=28" |1 |2:1
uﬁ(l y] 21,84l 5 5%

B'(T’—f) .1+}} 7 B f

c.|afq (.r: -.w4“1»':] =4.rv1-',%ﬂ_lf Xxiy="1 ST | {3: 5

gfgd A:B=3:43RB:Cc=8:9.gd

D. v.|s:8
A:C=28HN

+d feT 71T fddedl & U Ul IR &1 989+ Difole :

1. A-1V, B-III, C-1, D-II
2. A-1, B-1I, C-1II, D-IV
3. A-Il, B-III, C-1, D-IV
4. A-IIL B-1V, C-1, D-II

Options :

93806652997. 1
93806652998. 2
93806652999. 3
93806653000. 4

Question Number : 26 Question Id : 93806613610 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is logically equivalent to the statement- “Some felines are not lions.”?

1. Some felines are lions.
2. Some non-lions are not non-felines.
3. Some lions are not felines.
4. No-felines are lions.
Options :
93806653001. 1
93806653002. 2
93806653003. 3
93806653004. 4



Question Number : 26 Question Id : 93806613610 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

?ﬂ%@ﬂﬁﬁﬁﬂﬂiﬂﬁﬁlﬁﬁ@ﬁgﬂ%ﬂs~@ﬁ€ﬂd&fﬁﬁﬂ’§f%ﬂé€ﬂﬂ@?ﬂ

1. 9% [dSa-di a9 g
2. 9 IR- 919 TR-[dS1d-4301 781 B
3. 9 W fdSrd-d=0 61 g
4. Pl Ui f[dSTa-d=ii W TS B
Options :
93p806653001. 1
93806653002. 2
93806653003. 3
93806653004. 4

Question Number : 27 Question Id : 93806613611 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Carbonated drinks
B. Beverages

C. Cola Fizz

D. Liquid

Choose the correct answer from the options given below:

Options :

93806653005. 1
93806653006. 2
93806653007. 3
93806653008. 4



Question Number : 27 Question Id : 93806613611 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffeIRad &I ged avad & HH H Haiyd HIfSu|

A. DIEMIS U

B. U UgIy (§arfor)
C. didl fthst

D. d¥d Ygrd
fid feu g fasbedl # 1 91 Sk I

-

P b B
oron
map
PEEE
ngong

Options :

93806653005. 1
93806653006. 2
93806653007. 3
93806653008. 4

Question Number : 28 Question Id : 93806613612 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Evervone of us is mortal, therefore it is obvious that some day the human race will disappear
from earth.” Identify the logical fallacy committed in the above statement.

1. Fallacy of accident

2. Straw man

3. Fallacy of Composition
4. Fallacy of Division

Options :

93806653009. 1
93806653010. 2
93806653011. 3
93806653012. 4



Question Number : 28 Question Id : 93806613612 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

<GHH U YD ik %R ¢, SHICY Ug WY g b (] 161 ua sifd gedl ¥ g gl gt
S HYU H fhU 7T dha ¥ &1 g Diford|

1. JUCA0] T eIy

2. 91T 1 gl

3. UG ddaly

4. faug dba
Options :
93806653009. 1
93806653010. 2
93806653011. 3
93806653012. 4

Question Number : 29 Question Id : 93806613613 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that if one of them is true, the other must be
false. although they can both be false?

A. All novels are books.

B. Some novels are not books.
C. No novels are books.

D. Some novels are books.

Choose the correct answer from the options given below:

1. B and D Only
2. C and D Only
3. Aand C Only
4. A and B Only
Options :
93806653013. 1
93806653014. 2
93806653015. 3
93806653016. 4



Question Number : 29 Question Id : 93806613613 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fgfeiad | O o1 ufagftdl 39 ueR J6itd ¢ & afc 393 U Ue Id ¢ dl 371 3R
g1 TRy, gef 3 gl e gl el ¢

A. il 3T gD B |

B. $9 SN [&d el 2
c. ®is Yl U UK gl g
D. $ 30N Ukid g

1< fau v fadedt @ € Tl ST I

|.Hdd B 3R D
2. Hadd C AR D
3. had AR C
4. had A 3R B
Options :
93806653013. 1
93806653014. 2
93806653015. 3
93806653016. 4

Question Number : 30 Question Id : 93806613614 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallacious according to Classical Indian School of Logic
(Nyaya) because it is based on conditional (sopadhika) concomitance (vyapti)?

1. Sound is eternal because it 1s audible.

2. Fire 1s cold because it 1s a substance.

3. All things are non-eternal because they are knowable.
4, Wherever there 1s fire there is smoke.

Options :

93806653017. 1
93806653018. 2
93806653019. 3
93806653020. 4



Question Number : 30 Question Id : 93806613614 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafeiad & U Sl gfdd Fiid! YR I/ H3d & 3HUR ddb-avgul ¢ dife U8
YiuTfere it R 3H1eRd g2

1. G 1Yd g Hifdh T8 YT § |

2. 31 2fid ¢ Hifdh dg Udh A g |
3. gl diof sRmyd ¢ ®ifb U Ia gl
4. 551 Pl AU S, 98 Y3 g1

Options :

93806653017. 1
93806653018. 2
93806653019. 3
93806653020. 4

Question Number : 31 Question Id : 93806613615 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is related to network security?

1. Firewall

2. Worms

3. Keyloggers

4. Trojan
Options :
93806653021. 1
93806653022. 2
93806653023. 3
93806653024. 4

Question Number : 31 Question Id : 93806613615 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafeRad § O fhud! e Jedd Ui 1 g2

1. lIUdld
2. Ay
3. I AN
4.2l

Options :

93806653021. 1
93806653022. 2
93806653023. 3
93806653024. 4




Question Number : 32 Question Id : 93806613616 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not an emerging technology?

1. Artificial Intelligence
2. Quantum cryptography
3. 3-D holographic imaging
4. Computer based on vaccum tubes
Options :
93806653025. 1
93806653026. 2
93806653027. 3
93806653028. 4

Question Number : 32 Question Id : 93806613616 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRed ¥ & ISigaE Ureiie] g1 g2
1. SR g=fae (B Fiarn)
[EZUPIRl

2. ®icH

3. 3- D (FF3marH) gt gHiGHT
4. IR o9 TR JTYTRT IR

Options :

93806653025. 1
93806653026. 2
93806653027. 3
93806653028. 4



Question Number : 33 Question Id : 93806613617 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct increasing order of frequency of electromagnetic waves?

A. Light waves
B. Microwaves
C. Infrared waves
D. Radio waves

Choose the correct answer from the options given below:

1.D,B,C.A

2.A,B.C,D

3.B,C.D. A

4.D,A,B,C
Options :

93806653029. 1
93806653030. 2
93806653031. 3
93806653032. 4

Question Number : 33 Question Id : 93806613617 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FafaRad faggd-greaa g a¥ &l 3-a] Wihd! & 3RIgH 6 ¥ ford |

A. U a3l
B. HISHh] a¥d
C. 3RS dl
D. ST a3

-4 feu e fas et 7 4 9l SR -

D,B,C, A
A,B,C,D
B.C.D, A
D,A,B,C

1.
2.
3
4.
Options :
93806653029. 1
93806653030. 2

93806653031. 3
93806653032. 4

-



Question Number : 34 Question Id : 93806613618 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. Adobe Acrobat is an examples of proprietary product

B. Microsoft office 1s an example of commercial operating system
C. Linux is open source software

D. Ubuntu is an example of an operating system

E. Firmware is an example of a mobile operating system

Choose the correct answer from the options given below:

1. D and E Only

2. C and D Only

3. A, C and E Only

4. A, C and D Only
Options :
93806653033. 1
93806653034. 2
93806653035. 3
93806653036. 4

Question Number : 34 Question Id : 93806613618 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfRId A T BH Y By 9d g2

A. US4 Uhlde WAPHR IdIG &l Th 3G g

B. HIS® MU 3thy aifiiicdd uRici ReH &1 Uh 3agU g
C. A3 U 314 I WIteddR gl

D. 3d-] AR e d &1 IR0 g

E. BHAWR HIEISd AT e H &1 Udh 3aIerU |

4 few T fasb et # 1 91 SR I

. Hadd D 3R E

2. Hadd C AR D

3. HAd A, C 3R E

4. Had A, C 3R D
Options :
93806653033. 1
93806653034. 2
93806653035. 3
93806653036. 4




Question Number : 35 Question Id : 93806613619 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST1 LIST-II
(Scientist) (Invention)
A.|Tim Berners Lee I. |Computer Architecture
B.|Fred Cohen II. |Father of morden computer
C.|Charles Babbage II1. [ Virus
D. [John Von Neumann IV. [World Wide Web

Choose the correct answer from the options given below:

1. A-IV, B-11I, C-II, D-I
2. A-IIL B-1V, C-1, D-II
3. A-IV, B-1II, C-1, D-II
4. A-IIT, B-IV, C-1I1, D-1

Options :

93806653037. 1

93806653038. 2

93806653039. 3

93806653040. 4

Question Number : 35 Question Id : 93806613619 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

A lfg s I | SR 3R
B.|1hS Pig IL. | 3NYfic SR b TS
C. | dred defol I0L. | G123y
D. |54 91 =i IV.|9s digs dd

AId feu Y fadhetl & 4 Il SR &1 94+ Pifoll ;

1. A-IV, B-IIL, C-II, D-I
2. A-IIL, B-1V, C-1, D-II
3.A- IV, B-1II0, C-1, D-II
4. A-II1, B-1V, C-I1, D-1

Options :

93806653037. 1

93806653038. 2

93806653039. 3

93806653040. 4



Question Number : 36 Question Id : 93806613620 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As temperature increases., due to Global Warming, the release of methane from wetlands will
increase, 1s an example of

1. Positive feedback

2. Negative feedback

3. Both positive and negative feedback
4. Neither positive nor negative feedback

Options :

93806653041. 1
93806653042. 2
93806653043. 3
93806653044. 4

Question Number : 36 Question Id : 93806613620 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SI-SIY e ¥ gis gidl 8, S 38 & SRUT 3Ts YT U HiU &1 A d¢711 I8
19 1 9 fhudh1 3argru g?

1. RIS Ufdgy
2. IbRTHD Uldyfy
3. YPRIAS d RIS TGP gl
4.9 A GHRIAS A gl ThRIHD UfagfP
Options :
93806653041. 1
93806653042. 2
93806653043. 3
93806653044. 4




Question Number : 37 Question Id : 93806613621 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT

(Health related terms) (Explanation)

A | Toxicologv [ Action taken to prevent environmental
il R £ " |health hazard
B. | Exposure Assessment II. [Evaluation of public risk of a hazard
C.|Risk Assessment IIL. | Science of effect of toxic substances
: Estimation of impacts of environmental
D.|Risk Management IV. ! P
= contaminants on humans

Choose the correct answer from the options given below:

1. A-IIT, B-1V, C-II, D-I
2. A-IIL B-1V, C-1. D-II
3. A-l, B-1I, C-III, D-IV*
4. A-II, B-IIL, C-TV, D-1

Options :

93806653045. 1

93806653046. 2

93806653047. 3

93806653048. 4



Question Number : 37 Question Id : 93806613621 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

muﬁjaltﬁua) (ﬁmn@_"
FiqRulla Wi Yave HaRu gg ol
A.| 3fTfaNfagH I e
B.| 3R 3fidh el 11 [Yhe & HIdeHdb SIRGH &1 Jedich
c. |y sfidha- 1L | faSel Uerdl & UyTd &1 fa
| =™ iR vaiaRofig Sguur & yyig of
D.|<iRaH ug=H= V.
A faU U fdd el & T Ul 3R &1 98- Difelu -

1. A-HIT, B-1V, C-II, D-1
2. A-III, B-1V, C-1, D-II
3. A-L, B-1I, C-II1, D-IV'
4. A-I1, B-III, C-IV, D-1

Options :

93806653045. 1
93806653046. 2
93806653047. 3
93806653048. 4

Question Number : 38 Question Id : 93806613622 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are body waves generated during an earthquake?

A. P-wave

B. 5- wave

C. Love wave
D. Raleigh wave

Choose the correct answer from the options given below:

1. A and B Only
2. A, B and C Only
3.B, C and D Only
4. C and D Only
Options :
93806653049. 1
93806653050. 2
93806653051. 3
93806653052. 4



Question Number : 38 Question Id : 93806613622 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YbU & R 49 T Y I Ul &g a3 344 gldl g2

A G @
B. TH- T
C. dd- adT
D. 3 a3

fid feu g fasbedl # 1 91 Sk I

1. $dd A 3RB
2. Had A, B 3R C
3. HId B, C 3R D
4. ®Hdd C IR D

Options :

93806653049. 1
93806653050. 2
93806653051. 3
93806653052. 4

Question Number : 39 Question Id : 93806613623 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT
(Environmental Protocols/ Conventions) (Year of action/ adoption)
.| International Solar Alliance I. 11997
.| Convention on Biodiversity II. |2015

.|National Action Plan on Climate Change |IIL 1992

glalw]|»

.| Kyoto Protocol IV.12008

Choose the correct answer from the options given below:

1. A-III, B-II, C-IV, D-I
2. A-I1, B-III, C-IV, D-1I
3. A-IL B-III. C-1, D-IV
4. A-II1, B-1, C-II, D-1IV

Options :

93806653053. 1

93806653054. 2

93806653055. 3

93806653056. 4



Question Number : 39 Question Id : 93806613623 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

a1 et
(qatavuita victeia / Faum) @f¥d §9 SRETs &1 94)
A.| SIRIPTT IR TGeYA 1. |1997
B.|%Id- fafaedr &-<a3H L. | 2015
C. |Siefaryg ORAH R AUPE SrdgieHr - |10 (1992
D.|ddiel Uleidid Iv. [2008
i TSU U fdd el § T Ugl 3wk &1 94 Do -

1. A-III, B-I1, C-IV, D-1
2. A-I1, B-III, C-IV, D-I
3. AL B-III, C-1, D-IV
4. A-II1, B-1. C-II., D-IV

Options :

93806653053. 1

93806653054. 2

93806653055. 3

93806653056. 4

Question Number : 40 Question Id : 93806613624 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following components of Electromagnetic Radiation reach earth as a part of solar

radiation?

A. Gama- Rays

B. X- Rays

C. Ultraviolet Radiation
D. Visible Rays

E. Infrared Radiation

Choose the correct answer from the options given below:

1. A, B and C Only
2. C,D and E Only
3. A, B, D and E Only
4. A,B.C,Dand E

Options :

93806653057. 1
93806653058. 2
93806653059. 3
93806653060. 4




Question Number : 40 Question Id : 93806613624 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

GR-fafdhu & ush fge & U d fagd gty fafbeur & FgfeRad gea! d O oI gl
% Ugdd 82

A TTTHT- fprf

B. U- ol

C. WIS fafdur

D. PR fdhol

E. 3aiad (3R fafdhrul

fid feu g fasbedl # 1 Al Ik 9

. Hdd A, B3R C
2. Hadd C, D 3AIRE
3. Hdd A, B, D 3R E

4.A.B,C,D3IR E

Options :

93806653057. 1
93806653058. 2
93806653059. 3
93806653060. 4

Question Number : 41 Question Id : 93806613625 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The sustainable Development Goal which covers lifelong learning is

l. Good Health and Well-Being
2. Quality of Education
3. Gender Equality
4. Zero Hunger
Options :
93806653061. 1
93806653062. 2
93806653063. 3
93806653064. 4



Question Number : 41 Question Id : 93806613625 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Silgq=d T &I 9= S ardr 9dd fAhd ded g:-

1. 39 WY 3[R eI
2. fR781 1 TJoura

3. ol (S=e) GHMAd
4. SR §R

Options :

93806653061. 1
93806653062. 2
93806653063. 3
93806653064. 4

Question Number : 42 Question Id : 93806613626 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IRAHE stands for

1. Independent Regulatory Authority for Higher Education
2. International Regulatory Authority for Higher Education
3. Instant Regulatory Authority for Higher Education
4. Inter- University Regulatory Authority for Higher Education
Options :
93806653065. 1
93806653066. 2
93806653067. 3
93806653068. 4

Question Number : 42 Question Id : 93806613626 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3IS. 3R.U.Ud. S. (IRAHE) BT YU =7 g:-

1. SF3tEe Weed SrUIRel BR 8ER TSb A

2. TR Weled] YRS BR gRR Tdh A

3. 3¢ JeleR] YIRS BR BRR T[h e

4. TER-GMARE Weed) 3IRE BR 8RR T[h A

Options :

93806653065. 1
93806653066. 2
93806653067. 3
93806653068. 4



Question Number : 43 Question Id : 93806613627 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Commissions and organisations chronologically according to their year of
establishment:-

A. University Grants Commission

B. University Education Commission

C. All India Council of Technical Education
D. Education Commission

Choose the correct answer from the options given below:

1.A,B,C,D
2.C,B,Aand D
3.B,C,Aand D
4.D,A Band C
Options :
93806653069. 1
93806653070. 2
93806653071. 3
93806653072. 4

Question Number : 43 Question Id : 93806613627 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frafaiad YRR SRI13{/ 3N BT 3d! RIYHT & 94 & YR DIeldhd T Haieyd

A. Tayfaerery e ST

B. fayfaemery fRrem smam

C. YT HRA db-ia! fRrem aikeg
D. &7 MRt

4 few T faab et # 1 9l SR 9

.A,B,C,D
2.C,B.A3RD
3.B,C,A3RD
4.D,A,B3RC

Options :

93806653069. 1

93806653070. 2

93806653071. 3
93806653072. 4



Question Number : 44 Question Id : 93806613628 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In higher education, regulators perform the following functions:-

A. Permission to grant degrees
B. Selection of teaching faculty
C. Disbursement of public funds
D. Quality benchmarking

Choose the correct answer from the options given below:

1. A, B and C Only
2. D Only

3. A, Cand D Only
4.A,B,CandD

Options :

93806653073. 1
93806653074. 2
93806653075. 3
93806653076. 4

Question Number : 44 Question Id : 93806613628 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IR e H, fafame FafaRad o/ e &ed §:-

A. SUIRET (83t UeH &3 & 3afa
B. TR1&/h! &1 994

C. did [Y (Grd<id &IY) &l Yidarl
D. Turgarguf seidh (R fag)

-4 feu e fas et 7 4 9l SR -

. Hdd A, B3R C
2. Hdd D
3. HId A, C 3R D

4.A,B,C3IRD
Options :
93806653073. 1
93806653074. 2
93806653075. 3
93806653076. 4




Question Number : 45 Question Id : 93806613629 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I
(Value Education)

LIST-II
(Description)

A | Social Value Education

Aware of the diversity, deals and norms
of the society

People should know common values

B. | Spiritual Value Education I1. S T e—

C. | Cultural Value Education I1I. M‘?ke Pl beticr ahi mor iesponaibls
citizens

D.|Universal Value Education IV. [ To keep mind calm and awakened

Choose the correct answer from the options given below:

1. A1, B-1I, C-1II, D-IV
2. A-1I, B-1, C-1V, D-III
3. A-IV, B-III, C-II, D-1
4. A-III, B-IV, C-1, D-II

Options :

93806653077. 1
93806653078. 2
93806653079. 3
93806653080. 4




Question Number : 45 Question Id : 93806613629 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

1 gL
(e fRiem @)
= IS Bl fafdedr, S AUR 3R
A. | IS Hed fRrer L e
TSI D1 SRSl
ATl T Al IR W 93/
B. II. '
S Hel e I Heg S 41y
s ATl D1 dgaR 3R 3Hf4d IRl
C.| R fdd Hed fuef LS M
D. [ rdHfire T fRref IV. | B B! QT=T TGHT 3R SR]d -l
I feu Tt fabetl & 9 Il 3R &I 98- Piforu -
1. A-1, B-II, C-IIL, D-IV
2. A-1IL, B-1, C-IV, D-III
3. A-TV, B-II1, C-I1, D-1I
4. A-IIL, B-1V, C-1, D-1I
Options :
93806653077. 1
93806653078. 2
93806653079. 3
93806653080. 4
Sub-Section Number : 3
Sub-Section Id : 938066541

Question Shuffling Allowed : No



Question Id : 93806613630 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions:

Does more education lead to greater democracy? Or are more democratic countries better at educating their citizens? A
recent NBER. paper compared a group of Kenyan girls in 69 primary schools whose students were randomly selected to
recerve a scholarship with similar students in schools which received no such financial aid. Previous studies had shown
that the scholarship programme led to higher test scores and increased the likelihood that girls enrolled in secondary
school.

Overall, it significantly increased the amount of education obtained. For the new study the authors tried to see how the
extra schooling had affected the political and social attitudes of the women in question. Findings suggested that education
may make people more interested in improving their own lives but they may not necessarily see democracy as the way to
do it.

Even in established democracies, more education does not always mean either more active political participation or
greater faith in democracy. Poorer and less educated people often vote in larger numbers than their more educated
compatriots, who often express disdain for the messiness of democracy yvearning for the kind of government that would
deal strongly with the corrupt and build highways, railway lines and bridges at a dizzying pace of authoritarian China.

Sub questions

Question Number : 46 Question Id : 93806613631 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The NBER paper selected girl-students as sample through sampling technique.

1. Purposive

2. Snowball

3. Quota

4. Random
Options :
93806653081. 1
93806653082. 2
93806653083. 3
93806653084. 4

Question Number : 47 Question Id : 93806613632 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to previous study, what led to higher test scores among girl students?

1. Remedial classes
2. Personalised attention
3. Scholarship programme
4. Counselling session
Options :
93806653085. 1
93806653086. 2
93806653087. 3
93806653088. 4

Question Number : 48 Question Id : 93806613633 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The findings of the new study suggested that education may make people more interested in

1. taking active part in politics
2. improving their own lives

3. changing their social attitudes
4. getting socialised

Options :

93806653089. 1
93806653090. 2
93806653091. 3
93806653092. 4

Question Number : 49 Question Id : 93806613634 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The phrase “messiness of democracy’ used in the passage is referred to

1. Educated electorates participate less in casting their votes leading to poor representation of
right people in the government.

2. Democratic countries witness violent revolt among their citizens.

3. The gulf between poor and educated is increasing

4. Corrupt politicians are more interested in dividing the people for retaining the power.

Options :

93806653093. 1
93806653094. 2
93806653095. 3
93806653096. 4

Question Number : 50 Question Id : 93806613635 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is true about China in the context of the passage?

1. China's citizens want a more representative form of government
2. China has made huge strides in infrastructure development
3. China passes through a great political transformation
4. Based on the progress it has made, China will not entertain any kind of political reform
Options :
93806653097. 1
93806653098. 2
93806653099. 3
93806653100. 4



Question Id : 93806613630 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

e Taw & FEugEe 1y 9 39 91 1@ 7Y sl & I iR

1 HUD 4T gewk didad bl AR o A4 £23Ud] J1 HUD didhdize 62 J0- TNRG! ®f fRiféh &4 J 390
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SXE &1 B, T3 Sa=0® o © [ d Alddd & Ug1 & & Ul 91999 & &0 H ¢H|

QI didbaitie ot # H 3ifte s &1 o gz gt didds H fEd Tisy JAoifas HEfiaR] sl sfts
g el gl 2 | 3ifie TR 3R o fiféa v agen oo sifte fRiféra Szt @t srien 931 Ten 8 7deH
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Sub questions

Question Number : 46 Question Id : 93806613631 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T §1 5 R & 3D H 99 1 Y iy uldagd ufaft & arerd 9 diferd faanidal & 3ud &
U H g fddr r g

1. glge=d
2. fgAdad (@ldla)
3. DIC]
4. grefws
Options :
93806653081. 1
93806653082 2
93806653083. 3
93806653084. 4

Question Number : 47 Question Id : 93806613632 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

{71 312 & SR difcre faenfial & udien 4 God s Uid e sl Rg T A D 91
BHRUT T2

1. SUER] By
2. dafadd &
3. BEAqRI drishY

4. QR &R

Options :

93806653085. 1
93806653086. 2
93806653087. 3
93806653088. 4




Question Number : 48 Question Id : 93806613633 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ggs{%ﬂuﬂ%ﬁﬁﬁﬂfﬁww%ﬁ?ﬁ&ﬂﬁﬁﬁﬁ_%uﬁmwﬁ IF B Tl
1

1. IS | wfebd yit oA
2. 3d 3T Sila H YUR B
3. 3P| WIS gl @l daaq
4. GRS &
Options :
93806653089. 1
93806653090. 2
93806653091. 3
93806653092. 4

Question Number : 49 Question Id : 93806613634 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR ¥ U ARl <dldbad 1 18S- Ags: &l Yobd (19 H ¥ fbad! 3R g2

1. TR1f&d (Aatad AdaM H- H &H URTGR] $Xd © DY SR IRGR H ol alvll @l
Sug Ui I8l giar |
2. diddie <2l & AT & o fgus fagie fears Sarg|
3. TRI9 9 RIfe & & &1 915 96 351 ¢
4. YF ISR &1 S Il §91U 3G & U a8 ie STeH § 3ifdd g
oss0665093, |
93806653094. 2
93806653095. 3
93806653096. 4

Question Number : 50 Question Id : 93806613635 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS GeHH I & R A g H A Jgt g

1. i & AFRS e WIidHiEde ROR 98d B
2. diF A MYRY ¢id & f[dbr I siafeis uifd &1 g |
3. 1 U AgH STlicdd TR Y gl ok X8l o
4.fﬂ%maﬁn§m$aﬂwwzﬂﬁmw$mﬁ$gwaﬁ@wﬁ
!
Options :
93806653097. 1
93806653098. 2
93806653099. 3
93806653100. 4




Commerce

Section Id : 938066182
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 938066542
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 93806613636 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT the feature of business environment?

1. Complex
2. Dynamic

3. Mult1 faceted
4. Static

Options :

93806653101. 1
93806653102. 2
93806653103. 3
93806653104. 4

Question Number : 51 Question Id : 93806613636 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFraferRad d @S- sagar araraxr & fa2war 7gl g2

1. Sifeq

2. fa=fta

3. dgifay

4. Rfdd
Options :
93806653101. 1
93806653102. 2

93806653103. 3
93806653104. 4



Question Number : 52 Question Id : 93806613637 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT an element of Micro environment?

1. Customers
2. Suppliers

3. Technology
4. Competitors

Options :

93806653105. 1
93806653106. 2
93806653107. 3
93806653108. 4

Question Number : 52 Question Id : 93806613637 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FrafeiRad o A g&H qIdraRul &1 HIH-91 Uh dd ol o7

211%
4Dﬁmﬁ

Options :

93806653105. 1
93806653106. 2
93806653107. 3
93806653108. 4

Question Number : 53 Question Id : 93806613638 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In PESTLE framework, what does ‘L’ denotes?

1. Labour
2. Legal
3. Land
4. Latest

Options :

93806653109. 1
93806653110. 2
93806653111. 3
93806653112. 4



Question Number : 53 Question Id : 93806613638 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

PESTLE Thilde I ‘L &1 (Aféy Har g2

1. 4H (Labour)
2. AP (legal)

3. Yf¥T (Land)
4. qdIaH (Latest)

Options :

93806653109. 1
93806653110. 2
93806653111. 3
93806653112. 4

Question Number : 54 Question Id : 93806613639 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following types of FDI includes creation of new assets and
production facilities in the country?

1. Brownfield investment
2. Merger and Acquisition
3. Strategic alliances
4. Greenfield investment
Options :
93806653113. 1
93806653114. 2
93806653115. 3
93806653116. 4



Question Number : 54 Question Id : 93806613639 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fofafaa 1 9 e [9eit 9w (FD1) &1 ®1H-91 YHR AoaH S H Fd1H1
GREAURAT T Foid quT ST Jiaemsii 1 qiTierd Hdl g2

1. FI3AWIcS a9
2. GHTHTA 9 3HERIgUl

3. SIH S WfY
4. YHPles a9

Options :

93806653113. 1
93806653114. 2
93806653115. 3
93806653116. 4

Question Number : 55 Question Id : 93806613640 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following countries were part of NAFTA?

A. United States
B. Canada

C. Mexico

D. Brazil

Choose the correct answer from the options given below:

1. A, B Only
2. A, B, C Only
3. B, C, D Only
4. B, C Only
Options :
93806653117. 1
93806653118. 2
93806653119. 3
93806653120. 4



Question Number : 55 Question Id : 93806613640 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFaferfad & 9 ®F T S NAFTA &1 HIT 22

A. 993 I
B. H-IIST
C. Afdgal

D. SiTSild
4 fau e [asedi d wg! 3R I

1. HAdd A, B
2. HdA A, B, C
3. $dd B, C,D
4. HAAB, C

Options :

93806653117. 1
93806653118. 2
93806653119. 3
93806653120. 4

Question Number : 56 Question Id : 93806613641 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the key objectives of WTO?

A. To set rules for international trade

B. To resolve trade disputes

C. To resolve border disputes

D. To provide a forum for negotiating trade liberalisation

Choose the correct answer from the options given below:

1. A, B, D Only
2. A, C Only
3. B, C, D Only
4. A,B,CandD
Options :
93806653121. 1
93806653122. 2
93806653123. 3
93806653124. 4



Question Number : 56 Question Id : 93806613641 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFafafea T3 wro & T SEg SH-3 82

A. SRIPTY AR g 180 ST

B. AUR [ddIg &1 AT DAl

C. I faare &1 a1 HRAl

D. AUIR® IRl IH3Id & U U Hd UeH BTl

A1) Forw 1w Faed & ) SR 9

1.Hdd A, B, D
2. HAd A, C

3. $dd B, C, D
4.A,B,C3RD

Options :

93806653121. 1
93806653122. 2
93806653123. 3
93806653124. 4

Question Number : 57 Question Id : 93806613642 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following theories of international trade in chronological order (old
to new)

A. Mercantilism Theory

B. Comparative Advantage Theory
C. Product Life Cycle Theory

D. Hecksher-Ohlin Theory

Choose the correct answer from the options given below:

1.A,B,C,D

2.A,B.D,C

5.C.B;AD

4.B,A,C,D
Options :

93806653125. 1
93806653126. 2
93806653127. 3
93806653128. 4



Question Number : 57 Question Id : 93806613642 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

S{RIPI aHTUR & fwfeiRad Risidl o1 BrarspH H sqafeyd Sifer wrdi=
BECIE)!

A. dIforsgarg fgid

B. deHIeTd gy Rigia

C. 3G Sita- g Rigid
D. gaeR-3iei Rigid

- fou e faset # Tel ST I

L.ABCD
2 AB.DC
3.C,B,A,D
4.B,A,C,D

Options :

93806653125. 1
93806653126. 2
93806653127. 3
93806653128. 4

Question Number : 58 Question Id : 93806613643 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order of their establishment (Old to New)
A.NAFTA
B. European Union

C. SAARC
D. ASEAN

Choose the correct answer from the options given below:

1.A,B,C,D
2.B,A,D,C
3.D,C,B,A
4.C,D,A,B
Options :

93806653129. 1
93806653130. 2
93806653131. 3
93806653132. 4



Question Number : 58 Question Id : 93806613643 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Fgferiad o1 I1d RN & SHIAMHH H SAdRUd ifolg (WrdiE I di-)

A. NAFTA
B. European Union
C. SAARC
D. ASEAN

A9 fow u Rt & U8 IR T

LA BICD

9 BA DO

3.D,C,B,A

4.C,D,A,B
Options :

93806653129. 1
93806653130. 2
93806653131. 3
93806653132. 4



Question Number : 59 Question Id : 93806613644 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LISTII
BOP Concept
A.|Balance of payment-current A/C | I. [Inflow and outflow of capital
B.|Bilice ot papment-capiai ale | International Tr_ansactmns of
goods and services
C.|Balance of Trade III. [Import and export of goods only
D.|Balancing item IV.|Entry for net errors and omissions

Choose the correct answer from the options given below:

1 AT AL, CIIL DN
2. A-III, B-II, C-IV, D-I
3. A-IV, B-IIL, C-I, D-II
4. A-II, B-1, C-I11, D-IV

Options :

93806653133. 1

93806653134. 2

93806653135. 3
93806653136. 4



Question Number : 59 Question Id : 93806613644 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Gal-1 & 1Y YAI-I1 BT {Trer Hifore:

T

A. | YITAH-I T dTe ardT

1T
Uil ol siddlg aul dfgdls

q¥g3fl ud darsii o1 siarighy

B. | Y- Ysil e L | gaq
C.|aTIR-RY 111 [al 31l T {1aTd ud f-afd
D.|H< ]y Rpre IV. |Ffeai ud Yai-da o widfd

A 14U TN f[ddedl § I ol 3R &1 99 Hifofu -

1. A-I, B-IL, C-III, D-IV
2. A-IIL B-II, C-IV, D-I
3. A-IV, B-III, C-I, D-II
4. A-IL, B-1, C-III, D-IV

Options :

93806653133. 1

93806653134. 2

93806653135. 3

93806653136. 4




Question Number : 60 Question Id : 93806613645 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LISTI LIST-II
TRADE TARIFF Explanation

A.|Specific Tariff [ Fixed percentage of the value of
the commodity

B.|Ad valorem Tariff II. |Fixed amount of money per unit
Duty fixed to bring the price of

C.|Compound Tariff III. | imported commodity to the level
of domestic support price

D |Variable Tariff v Combination of Ad valorem and

Specific Tariff

Choose the correct answer from the options given below:

1. A-I, B-IL, C-III, D-IV
2. AL, B-I, C-IV, D-III
3, AT, BTV, C-11, D
4. A-IV, B-III, C-II, D-I

Options :

93806653137. 1
93806653138. 2
93806653139. 3
93806653140. 4




Question Number : 60 Question Id : 93806613645 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GI-1 & 1Y Yei-11 DT [T Pifore:

a1
(STUY UR[Th)

A [IRHIVIRS YLed

9] gy ol fAad ufdawrd

B. |G Uedh

IL.

ufd sors ged @t frad af

C. g1 Uged

I11.

ST 9% T Jed WiR ol
R & gAY T R A 8
gd Yep

D. | uRadl g

IV.

R T YD T
URATIIRS YR

I 13U U [adhedl § I ol IR &1 99 DHIfoTU -

1. A-I, B-IL, C-IIL, D-IV
2. A-II, B-I, C-IV, D-III
3. A-III, B-1V, C-II, D-I
4. A-IV, B-IIL, C-II, D-I

Options :

93806653137. 1

93806653138. 2

93806653139. 3

93806653140. 4




Question Number : 61 Question Id : 93806613646 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the applications of the conservatism principle of
accounting?

A. Valuation of stock in trade at the lower of cost or market value

B. Debiting drawings account and crediting purchases account when goods are
withdrawn by the proprietor

C. Making provision for bad and doubtful debts

D. Making provision for discount on creditors

E. Creation of investment fluctuation fund

Choose the correct answer from the options given below:

1. Aand C Only
2. A,Band D Only
3. B, C and E Only
4. A, C and E Only
Options :
93806653141. 1
93806653142. 2
93806653143 3
93806653144, 4



Question Number : 61 Question Id : 93806613646 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A & Sfgarfedl & Rigia 3 fFufaRad A 3 oo urifie g2

A. IR WY DT ARG Hed ddT deiR G H ol H} FHaR 81 39 R
el S

B. STd WIHI gRT 3] o1 IR {b SIIdl g <l SIgI 0T FIl SBUI Bl
T b T &1 HRAT

C. Sod dUT 3R B0 5d UG 1T

D. 9-GRI UR @< od Uae &1

E. a2 IdR-9¢ra fAfe &1 goiq

A1) Forw 1w Faed & ) SR 9

1. Had A 3R C

2. Bad A, B3R D
3. HAd B, C 3R E
4. DAA A, C 3R E

Options :

93806653141. 1
93806653142. 2
93806653143. 3
93806653144. 4




Question Number : 62 Question Id : 93806613647 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct order in which the assets of the firm shall be applied in case
of dissolution of a partnership firm

A. Paying to each partner rateably what is due to him from the firm for
advances as distinguished from capital.

B. Paying the residues if any to partners in the proportion in which they were
entitled to share profit.

C. Paying the debts of the firm to third parties.
D. Paying to each partner rateably what is due to him on account of capital.

Choose the correct answer from the options given below:

1,8 CD. B
2.C,A,B,D
3.C,A,D,B
4.A,B,C,D

Options :

93806653145. 1
93806653146. 2
93806653147. 3
93806653148. 4



Question Number : 62 Question Id : 93806613647 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AReR W & [qge ot gan & B @1 ufkdufat fors o & uged gift 39
el hH Pl Ugdli=d

A. U ATHGR 1 Yoit I S BH Bl 6 T S AR o1 SHuTldD

YT
B. Ifc $Ig AN § A AR B Ary-[FUISH SaTd | YIaH
C. 3 U&fi & BT Pl

D. UdP ISER I 3 Uil @id BT SuTidd YT

lL.ACD B
26408, D
3 A DB
4.A,B,C,D
Options :

93806653145. 1
93806653146. 2
93806653147. 3
93806653148. 4



Question Number : 63 Question Id : 93806613648 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are incorrect for amalgamation in the nature
of merger?

A. All the assets and liabilities of the transferor company are taken over by
transferee company.

B. Shareholders holding not less than 95% of the face value of the equity shares
of the transferor company become equity shareholders of the transferee
company.

C. Payment of purchase consideration may be made in cash per share.

D. Journal entries for recording the merger are passed by pooling of intrest
method.

E. The business of the transferor company is not intended to be carried on by
the transferee company.

Choose the correct answer from the options given below:

1. A, B, and C Only
2. B, C and D Only
3. Aand D Only
4. B, C and E Only
Options :
93806653149. 1
93806653150. 2

93806653151. 3
93806653152. 4



Question Number : 63 Question Id : 93806613648 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(9T 1 Ubld T AR gq FRkiRdd 1 8 BIF-51H d S I10d 52

A. SXIIRD HU-l Dl U UREURET qUT STiA@ gXIidiRull Ul gkl
SEUGU B fU S B

B. U SRR [STP U iR D=l b FHT 3= P 95% 3fidhd Ted
A HH P 3 7 gl gXidiNdl DU b THAT SYRD § olld g |

C. Y Ufdhd &1 YIdH Ui SAPbs H fhdr ol Gadl g

D. [4cr 1 a1 D= & ol A= uiaieai o1 sfidke fafe gRT ¥9g-
CRISIEESIG

E. 8XIdiRd pU-l gRI 8XdicR® D] AGHISIR] W4T HHURA ol gidil

A1) Forw 1w Faed & ) SR 9

1. Pad A, B, 3R C
2. Had B, C 3R D
3. Had A 3R D

4. HAA B, C 3R E

Options :

93806653149. 1
93806653150. 2
93806653151. 3
93806653152. 4

Question Number : 64 Question Id : 93806613649 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Ind AS specifically deals with consolidated financial
statements?

1. Ind AS 29
2. Ind AS 101
3.Ind AS 110
4. Ind AS 41

Options :

93806653153. 1
93806653154. 2
93806653155. 3
93806653156. 4



Question Number : 64 Question Id : 93806613649 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFafeRaa 7 @ SH-a1 URdT daid AFe 9y &9 3 gafed faxiy
faazon & d€fdd g2

1. Ind AS 29
2. Ind AS 101
3. Ind AS 110
4. Ind AS 41
Options :
93806653153. 1
93806653154. 2
93806653155. 3
93806653156. 4

Question Number : 65 Question Id : 93806613650 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Ltd. makes plastic buckets. Selling price per bucket is 3210 and variable cost
per bucket is I60. Fixed cost of making buckets is ¥1,50,000 for the year. The
number of buckets to be sold to get a profit of T90000 is:

1. 714 buckets
2. 428 buckets
3. 1000 buckets
4. 1600 buckets
Options :
93806653157. 1
93806653158 2
93806653159. 3
93806653160. 4



Question Number : 65 Question Id : 93806613650 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Td1. @iiRe® dIect BT IdiaA ddl 6 | Wi Srect & [ashd Hed 210
gR¥ad-=ite arTd ufa Srec! 260 g 1 drafedl o1 Ao & & fog -irg anra
21,50,000 Ufd a9 g1 390000 BT ATH UTE B & foru fAsha &I oI arel
qrafedl dI BT 6 -

1. 714 Sr@fear
2. 428 Sr@fedr
3. 1000 SrdAfedl
4. 1600 STafedr

Options :

93806653157. 1
93806653158. 2
93806653159. 3
93806653160. 4

Question Number : 66 Question Id : 93806613651 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the amount of net cash from operating activities of A Ltd. if it has net
profit before tax I5,90,000: Depriciation on Property, Plant and Equpment
34,30,000: Decrease in current Assets 330,000: Decrease in Current Liabilities
X85000: and Tax Paid 80000

1.39,65,000
2.X8,85,000
3.X10,75,000
4.39,95,000

Options :

93806653161. 1
93806653162. 2
93806653163. 3
93806653164. 4



Question Number : 66 Question Id : 93806613651 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A 1. 1 yaraH fharaand] 3 IS Adhs B .1 AR ¢ Al 37H1 R Ud IS
AT 5,90,000 YT, YA TUT IUBRUN UR B 4,30,000; 91 uigufrai o
FHHI 230,000; H@aﬁlﬁﬁﬁ BT 285000; TUT DR YA 80000

1.9.65.000
2. 38,85.000
3.%10,75,000
4.39.,95,000
Options :
93806653161. 1
93806653162. 2
93806653163. 3
93806653164. 4

Question Number : 67 Question Id : 93806613652 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The working of current Purchasing Power Accounting requires classification of
balance sheet items into Monetary Items and Non-Monetary Items. Which of the
following is a Non-Monetary Item as per current Purchasing Power Accounting?

1. Cash

2. Debertures

3. Debtors

4. Inventories
Options :
93806653165. 1
93806653166. 2
93806653167. 3
93806653168. 4



Question Number : 67 Question Id : 93806613652 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

91 oY 9 ddid- Ufchdr § ga--ud &1 el & Aifge A aur IR-Hifes
Hel § Fiffur B DI TSl gl ¢ | I Hd gd AFid- & AHJAR
frafeiRad o A H-a1 U TR-AIfG® 1a 82

1.3DS
2. FBUIGH
3. GGR
4, Jgiaan

Options :

93806653165. 1
93806653166. 2
93806653167. 3
93806653168. 4

Question Number : 68 Question Id : 93806613653 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LISTI LISTII
A.|Ind AS 2 I. |Property, Plant and Equipment
B.|Ind AS 16 II. |Fair Value Measurement
C.|Ind AS 103 III. | Inventories
D.{Ind AS 113 IV.|Business Combinations

Choose the correct answer from the options given below:

1. A-L, B-IL, C-IIL, D-IV
% AT BE €1, B
3. A-III, B-I, C-1IV, D-II
4. A-TI1, B-1, C-II, D-IV

Options :

93806653169. 1

93806653170. 2

93806653171. 3

93806653172. 4



Question Number : 68 Question Id : 93806613653 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Gal-1 & 1Y YAI-I1 BT {Trer Hifore:

a1 TeIt-1I
A.|YRA Wdih- AFD 2 1. [Sufxy, 893 TUT SUDHRUI
B. | YRdI4 ddid- dH® 16 I1. | 3f<d Jed Arg-
C. | R <Rdid- AFS 103 111 | Tgfemn
D.| YR Wi JHFP 113 IV. | a3 9gioi=

A 14U TN f[ddedl § I ol 3R &1 99 Hifofu -

1. A-I, B-IL, C-III, D-IV
3 AJIVEBIIL G-I TET
3. A-IIL, B-1, C-IV, D-II
4, A-II, B-1, C-II, D-IV

Options :

93806653169. 1

93806653170. 2

93806653171. 3

93806653172. 4




Question Number : 69 Question Id : 93806613654 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following types of audit report are termed together as modified
reports as per standards on Auditing (SA) 705?

A. Qualified Report

B. Audit Report with an ‘Emphasis of Matter’ paragraph
C. Disclaimer of opinion Report

D. Adverse Report

Choose the correct answer from the options given below:

1. Aand B Only

2. A, B and C Only

3. B and C Only

4. A, C and D Only
Options :
93806653173. 1
93806653174. 2

93806653175. 3
93806653176. 4



Question Number : 69 Question Id : 93806613654 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fofafaa 3 3 i sidreur Ufdded & UPR P b0 AFE (SA) 705 &
SR RN Hiddad & =4 1 gl Iy foan g2

A. gufdee yfdda-

B. "fd% 9% UR SIR" URBIT® & A1y 3{b&fu] Ydda
C. foaR ufdde &1 srEdidru

D. Ufddd wldded

A1) Forw 1w Faed & ) SR 9

1. Had AR B
2. Had A, B 3R C
3. Had B 3R C
4. PAA A, C3RD

Options :

93806653173. 1
93806653174. 2
93806653175. 3
93806653176. 4

Question Number : 70 Question Id : 93806613655 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is incorrect for Management Audit?

1. Management audit is a statutory requirement.
2. Management audit is a comprehensive and critical review of all aspects of
management process.
3. Management audit covers wide area of management activities and may be
for more than one financial year.
4. The shareholders or board of directors may appoint the management auditor.
Options :
93806653177. 1
93806653178. 2
93806653179. 3
93806653180 4



Question Number : 70 Question Id : 93806613655 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafaRad 1§ O S1-91 $UT Ude b & ol Tad g2

1. Ya¢ 3{ch&fu] U b 3aRghdl g |
2. US 3{hafur Uael Uichar & Jut ugcsii 1 U A Tl STl D

URIET g |

3. Uqe] b aful Yael Ufcharaii o ggd &1 I SHRaAT Dl & aUl U faxilg
Iy & i o fory ot gl gpar gl

4. SRIYRD Al HeRIH Hod Ua Sfdhaid Bl (Had DR hd o |

93806653179. 3
93806653180. 4

Question Number : 71 Question Id : 93806613656 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The cross price elasticity between two goods ‘A’ and ‘B’ is (-) 0.8. If the price of
good ‘B’ rise by 20%, how will the demand for'A' change?

1. (-) 16%
2. 6%
3.(-) 8%
4. (-) 12%
Options :
93806653181. 1
93806653182. 2

93806653183. 3
93806653184. 4



Question Number : 71 Question Id : 93806613656 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&l 33l ‘A’ 3R ‘B’ & A @ 1Hd Ufddid (-) 0.8 31 Afd 9% B’ &1 Jed 20%
Y ¢ odl § dl'A' @1 {4 fbg R gRkafdd giil?

Options :

93806653181. 1
93806653182. 2
93806653183. 3
93806653184. 4

Question Number : 72 Question Id : 93806613657 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The price of a product decreases from I100 to I60 per unit. If the price elasticity
of demand in 1.5 and the original quantity demanded in 30 units, What will be
the new quantity demanded?

1. 38

2.48

3.56

4. 62
Options :
93806653185. 1
93806653186. 2
93806653187. 3
93806653188. 4



Question Number : 72 Question Id : 93806613657 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ud IdIG P Jod Ueh: Ufd 3HTs 1100 360 BIdl & Afe AN &1 Sad A
1.5 OUT AR ATl TS 7T 30 BTG 6 of 5 HiTl 715 JHT 9491 gRi?

1. 38

2.48

3.56

4. 62
Options :
93806653185. 1
93806653186. 2
93806653187. 3
93806653188. 4

Question Number : 73 Question Id : 93806613658 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The type of market where few sellers are selling competing products to many
buyers is known as:

1. Monopoly

2. Monopolistic Competition
3. Oligopoly

4. Perfect Competition

Options :

93806653189. 1
93806653190. 2
93806653191. 3
93806653192. 4



Question Number : 73 Question Id : 93806613658 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dI9IR &1 9 UHR o] @ [dodl i< e &1 fama s [adsarsi
B B 6, ST ST H AT ST & -

1. THIIDHRE

2. UBTEHRI Wi
3, AT IDBR

4. gul yiqaiar

Options :

93806653189. 1
93806653190. 2
93806653191. 3
93806653192. 4

Question Number : 74 Question Id : 93806613659 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following formula correctly show the relationship Average Revenue
(AR), Margianl Revenue (MR) and Price elasticity of demand?

1. MR =AR +e-1
2.AR=MRxe-l/e
3. MR=ARx(e-1)e
4 MR=AR +e-1/le+1

Options :

93806653193 1

93806653194, 2

93806653195. 3

93806653196. 4



Question Number : 74 Question Id : 93806613659 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FrafeRad A A S1H-91 93 3 31 (AR), I 3119 (MR) T4 JAT DI
DI g & A ae I Tol 39 1 il g2

1. MR =AR +e-1
2.AR=MR<xe-1l/e
3. MR=ARx(e-1)e
4 MR=AR+e-1l/e+1
Options :
93806653193 1
93806653194, 2
93806653195. 3
93806653196. 4

Question Number : 75 Question Id : 93806613660 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-II
Concept Formula
A.|Production Function L. | KiK,L)
B.|Average Product II. |TPn-TPn- 1
C | Marginal Product 1 TD'[?.I Productf_No, of units of
e variable factor
D.|Constant Return to scale IV (Q—FEE bk ol n)

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-II, B-I, C-IV, D-III
3, A-I, B-II, C-IV, D-III
4. A-IV, B-IIL, C-11, D-I

Options :

93806653197. 1

93806653198. 2

93806653199. 3

93806653200. 4



Question Number : 75 Question Id : 93806613660 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

GI-1 & 1Y Yei-11 DT [T Pifore:

a1 -1
(4RO i)
A.|3dIG B L |[K(K. L)
B.|311{d 3dIG IL | TPn - TPn - 1
C.[dHid 3drg I11. %fﬁ;ﬁq PRSI Bl
D.|9HH &1 RR ufdwa IV.[Q=f(a, b,c, ....... n)

I 13U U [adhedl § I ol IR &1 99 DHIfoTU -

1. A-I, B-IL, C-IIL, D-IV
2. A-II, B-I, C-IV, D-III
3. A-L, B-II, C-IV, D-III
4. A-IV, B-IIL, C-I1, D-I

Options :

93806653197. 1

93806653198. 2

93806653199. 3

93806653200. 4



Question Number : 76 Question Id : 93806613661 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST1 LIST-II

Concept Formula
A.|Total Utility I. IMU; + MU, + MU,
B.[Marginal Utility II. [TU, -TU, - 1
C.|Average Fixed Cost II.|ATC/ AQ
D.|Marginal Cost IV.|TFC/Q

Choose the correct answer from the options given below:

1. A-IV, B-IIL, C-II, D-I
2. A-TI, B-I, C-TII, D-IV
3. A-I, B-II, C-IV, D-III
4. A-IIL, B-II, C-1, D-IV

Options :

93806653201. 1
93806653202. 2
93806653203. 3
93806653204. 4




Question Number : 76 Question Id : 93806613661 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Yei-11 DT [T Pifore:

ESE I

(YTTIM) )
A.|pa Iugifian 1. MU, + MU, + MU,
B. [diwid Sggifirdr II. [TU, - TU, - |
C.|siad f@R arTd 1L |A TC/ AQ
D. [diHid arTd IV.|TFC/Q

I 13U U [Aadhedl § O ol IR &1 949 HIfoTU -

1. A-IV, B-IIL, C-II, D-I
9. AL BLCHIL DIV
3. A-L, B-II, C-IV, D-III
4. A-TII, B-II, C-I, D-IV

Options :

93806653201. 1

93806653202. 2

93806653203. 3

93806653204. 4




Question Number : 77 Question Id : 93806613662 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following examples of business cycles in chronological order. (Old
to New)

A. Dot Com bubble burst
B. Great Depression

C. Covid Pandemic

D. Global Finacial Crisis

Choose the correct answer from the options given below:

1.A,B,C,D
2.H.A.D.C
3.D,B,A, C
4.C,D,A,B
Options :

93806653205. 1
93806653206. 2
93806653207. 3
93806653208. 4

Question Number : 77 Question Id : 93806613662 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

?R%W%mmﬁwﬁmﬁmwmﬁ

A. Sic HIH 990 T
B. HeMcl
C. Difds UsTH®

D. af%& fa<ig d@e
4 feu e faweat # el S I

LABCD
2.B,A:D,C
3D, BA,C
4.C,D,A,B

Options :

93806653205. 1
93806653206. 2
93806653207. 3
93806653208. 4



Question Number : 78 Question Id : 93806613663 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the factors that determine the demand.

A. Price of the Commodity

B. Income of the Consumer

C. Taste and Preferences of Consumer
D. Size of Population

Choose the correct answer from the options given below:

1. Aand B Only
2. A, B and C Only
3. B, C and D Only
4. A,B,CandD
Options :
93806653209. 1
93806653210. 2
93806653211. 3
93806653212 4

Question Number : 78 Question Id : 93806613663 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TR BT YR DA aldd DRDI DI Ugdl-1

A. T DI A
B. SUHIEI DI 31T
c.mﬂﬂwﬁm@wamuﬁa

D. S-REAT D[ DR
4 fau e 9l 4 g8l SR gA:

1. Hdd A 3R B

2. BAd A, B3R C
3. Hdd B, C 3R D
4. PAA A, B, C 3R D

Options :

93806653209. 1
93806653210. 2
93806653211. 3
93806653212. 4




Question Number : 79 Question Id : 93806613664 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are part of micro economics?

A. Product pricing

B. Consumer behaviour
C. Interest rate

D. Factor pricing

Choose the correct answer from the options given below:

1. A, B and C Only
2. A,Band D Only
3. Aand D Only

4 A,B,Cand D
Options :
93806653213. 1
93806653214. 2
93806653215. 3
93806653216. 4

Question Number : 79 Question Id : 93806613664 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad 9 3 Far-aa A srdwmd &1y g2

A. 3dlc g

B. SUHIEI HdeR
C. S5 &3

D. Jed HR®

A fou e fas et | Tel ST I

1. Pad A, B3R C
2. Bad A, B3IRD

3. HAd A IR D
4.A,B,C3IRD

Options :

93806653213. 1
93806653214. 2
93806653215. 3
93806653216. 4



Question Number : 80 Question Id : 93806613665 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the areas of macro economics:

A. National Income

B. Balance of Payments

C. Level of savings and investment
D. Location of industry

E. Behaviour of firms

Choose the correct answer from the options given below:

1. A, B and C Only
2. B, C and E Only
3. B, C and D Only
4. A,B,C,DandE
Options :
93806653217. 1
93806653218. 2

93806653219. 3
93806653220. 4



Question Number : 80 Question Id : 93806613665 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AP 312 & &7 B ggari-g

A. TP 3

B. YA Hda-
C. S YT (9% BT 'R

D. 3T BT -
E. BHl ] dgR

1. Pad A, B3R C
2. HAA B, C 3R E
3. HAA B, C 3R D
4.A,B,C,D3RE

Options :

93806653217. 1
93806653218. 2
93806653219. 3
93806653220. 4

Question Number : 81 Question Id : 93806613666 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A company hold raw material for 60 days. It gets credit from suppliers for 15
days, production process take 15 days, finished goods are held for 30 days and 30
days credit 1s given to debtors. Calculate the total working capital cycle.

1. 150 days
2. 120 days
3. 100 days
4. 90 days
Options :
93806653221. 1
93806653222. 2
93806653223. 3
93806653224. 4



Question Number : 81 Question Id : 93806613666 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS DY el ATl Bl 60 a1 @ feIE Tt ¢ | 59! gfdadlsti 9 15 feAl
& foru IUR firadn g, Sdre ufdsan 1 15 faa @rd 8, TaR |rd 30 & & forg
G1 Sl § 9T ¢GRI @l 30 16 BT IUR (41 Il & | PRIRIE Ysil 9sb @l
U HifSTY

1. 150 feA
2. 1201
3.100 A
4.90 e

Options :

93806653221. 1
93806653222. 2
93806653223. 3
93806653224. 4

Question Number : 82 Question Id : 93806613667 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A company has 10%, 20 lakh debentures. The EBIT of the company 1s %5,00,000
and the equity capitalisation rate 1s 16%. Calculate overall cost of capital.

1.9.5%

2.10.8%
3. 12.9%
4. 14.5%

Options :

93806653225. 1
93806653226. 2
93806653227. 3
93806653228. 4



Question Number : 82 Question Id : 93806613667 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U U1 & U 20 AR 10% BUIGH & | U DT SIS 4T bR gd allH
25,00,000 TUT FHAT YSIIHRUI &R 16% & | USi @I Hal ARTA D1 0T Do |

1.9.5%
2. 10.8%
3.12.9%
4. 14.5%
Options :
93806653225. 1
93806653226. 2
93806653227. 3
93806653228. 4

Question Number : 83 Question Id : 93806613668 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ABC Itd. 1ssued 2,000, 10% preference shares of T100 each at I95. Calculate the
cost of preference shares.

1. 8.50%

2.10.53%
3. 12:35%
4. 15.25%

Options :

93806653229. 1
93806653230. 2
93806653231. 3
93806653232. 4



Question Number : 83 Question Id : 93806613668 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ABC a1, 1 2100 U@ a1 2000, 10% YATIHR 3T T 295 GR 1A fdbar|
UaifI®R 320 BT AR 1 TUFET DI

1. 8.50%
2. 10.53%
3. 12.35%
4.15.25%
Options :
93806653229. 1
93806653230. 2
93806653231. 3
93806653232. 4

Question Number : 84 Question Id : 93806613669 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A company produces and sells 10,000 toys. The selling price per toy 1s 3500,
variable cost is X200 per unit and fixed operating cost is 325,00,000. Calculate
operating Leverage.

1. 4 times
2. 5 times
3. 6 times
4. 8 times
Options :
93806653233 1
93806653234. 2
93806653235. 3
93806653236. 4



Question Number : 84 Question Id : 93806613669 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TP HYAT 10,000 RIGHT BT Id1G a1 fashy &l & | YD (9aH &1 fawg
T 3500 § GRAA-T ANTd 2200 Wi 515 adT (RR uRara- drTd
%25.00,000 © | UETA SAIADH B 0T DIt |

1. 4 70T
2. 5700
3.6 70T
4. 80T

Options :

93806653233. 1
93806653234. 2
93806653235. 3
93806653236. 4

Question Number : 85 Question Id : 93806613670 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the discounted cash flow techniques of capital
budgeting?

A. Payback Period

B. Accounting rate of return (ARR)
C. Net Percent Value (NPV)

D. Internal Rate of Return (IRR)

E. Profitability Index

Choose the correct answer from the options given below:

1. A, C, D Only
2.B,C.E Only

3. Cand D Only

4. C,D and E Only

Options :

93806653237. 1
93806653238. 2
93806653239. 3
93806653240. 4



Question Number : 85 Question Id : 93806613670 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Prafeifaa 7 & Golt aoifen & SI.HI 0 SoTTd A YaTe dblie &2

A. Fd=r argEt sqafe

B. U &X AP+ (ARR)
C. TS 944 G (NPV)

D. 3{{di® U™ & (IRR)

E. AiHYedl gahidh
414 fau e fasbedi o |gl 3 94

1.HAd A, C,D
2. $dd B, C, E
3. Had C 3R D
4. HqdC,D 3R E

Options :

93806653237. 1
93806653238. 2
93806653239. 3
93806653240. 4



Question Number : 86 Question Id : 93806613671 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Development Financial Instituition in chronological order
of their eastablishment (Old to New)

A. IFCI

B. IDBI

C. NABARD
D. SIDBI

Choose the correct answer from the options given below:

1.A,B,C,D
2.B,A,C,D
% 0. B.AR
4.D,C,B,A
Options :

93806653241. 1
93806653242. 2
93806653243. 3
93806653244. 4

Question Number : 86 Question Id : 93806613671 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFraferRad fo<iia foemr wuFl &1 396 QI & Siasmd | saafed oifo
CIEEEEEIE)

A.IFCI

B. IDBI

C. NABARD
D. SIDBI

519 Forw 1w Feed & W) SR 9

LA BCD
2. 8,8, 0.1
S EBAB
4.D,C,B,A
Options :

93806653241. 1
93806653242. 2
93806653243. 3
93806653244. 4



Question Number : 87 Question Id : 93806613672 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following exchange rate arrangements of international monetary
system in chronological order (Old to New)

A. Gold Standard

B. Commodity Specie Standard
C. Fixed parity System

D. Floating exchange Rate

Choose the correct answer from the options given below:

1.A,B,C,D
2. B. AL 1)
3. CB.D.A
4. B,C,A,D
Options :

93806653245. 1
93806653246. 2
93806653247. 3
93806653248. 4



Question Number : 87 Question Id : 93806613672 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SiRIS Al yurelt 1 FafiRad Rad o sFawl ol PrardhH |
A Bifor (A 9 7d1)

A. U S

B. HId Riadh1 HHDH
. R gaar v
D. 3RS IRad- &

A1) Forw 1w Faed & ) SR 9

LAB.CD
2.B,A;C,D
3.C,B,D,A
4.B,C,A,D

Options :

93806653245. 1
93806653246. 2
93806653247. 3
93806653248. 4

Question Number : 88 Question Id : 93806613673 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of Multinational Capital Budgeting in correct order
A. Estimate net cash flow from the project
B. Determine net investment outlay

C. Apply appropriate evaluation technique
D. Identify appropriate discount rate

Choose the correct answer from the options given below:

1.A,B,C,D
2.C,A,B,D
3. D,C. BiLA
4.B,A,D,C
Options :

93806653249. 1
93806653250. 2
93806653251. 3
93806653252. 4



Question Number : 88 Question Id : 93806613673 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JgIPIg Yoll soifde & fAafeiRad <Rl &1 |gl o # sqafRyd Sifsh

A. GRS Y Y DS Ydrg b1 U Al
B. Y& (9% dFTd I FERT

C. SUGE Jeih-1 db-1d AR HAT
D. SUYd €T & gl

L. ABCD
26408, D
3 IO BA
4.B,A,D,C
Options :

93806653249. 1
93806653250. 2
93806653251. 3
93806653252. 4



Question Number : 89 Question Id : 93806613674 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LIST-IT
Concept Formula
A.|Present Value L. [Cash flow x (1+r)"
B.|Future Value IL. [Cash flow/ (1+1)"
C.|Future Value of Annuity I1I.|R (PVIFi,n)
D.|Present Value of Annuity IV.|R (FVIFAi1n)

Choose the correct answer from the options given below:

1. A-IL, B-L, C-IV, D-III
2. A-1, B-IIL, C-IV, D-III
3, ACITE BTV, C-L Dol
4. A-1, B-IIL, C-II, D-IV

Options :

93806653253. 1

93806653254. 2

93806653255. 3
93806653256. 4




Question Number : 89 Question Id : 93806613674 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Yei-11 DT [T Pifore:

a1 A1
(3ITYTIUM G E)

| adu = g I |Cash flow x (1+1)f

| v g II. |Cash flow/ (1+1)"

O|®=| >

| aTfept o1 wfdsy ey I1L [R (PVIFin)

D.|qI¥] BT acHr- e IV.|R (FVIFAi,n)

HId 13U T fasedl § O gel 3R &1 994 BIforu

1. A-II, B-I, C-IV, D-III
2. A-I, B-II, C-IV, D-III
3. A-TII, B-IV, C-1, D-II
4. A-I, B-TII, C-TI, D-IV

Options :

93806653253. 1
93806653254. 2
93806653255. 3
93806653256. 4



Question Number : 90 Question Id : 93806613675 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I
Term

LIST-II
Explanation

Account held by a foreign bank

A.|Nostro Account 1. sosth 5 leal Bk
An Indian Bank's Swiss Franc
b, | Vosteoroeonnt IL. A/C with a bank 1n Switzerland.
c |Bid L Pr.u:fa at which the dea_ler 18
willing to buy another currency.
D |offer v Price at which the dealer 1s

willing to sell another currency.

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-II, B-I, C-III, D-IV
3. A-IIIL, B-II, C-IV, D-I
4. A-IV, B-IIL, C-I, D-II

Options :

93806653257. 1

93806653258. 2

93806653259. 3
93806653260. 4




Question Number : 90 Question Id : 93806613675 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GI-1 & 1Y Yei-11 DT [T Pifore:

A1
(XT3

&
(==

A.|ARE) ara

faezft d@ @1 2y 99 | @il

B. | dreg e

1L

fo3ft yRdg d 1 HieoRds
& Rag de & @il

C.|arelt

III.

98 Yd o R ohdl 3= gl &l
Y P DI 35D |

D.|UXdId

IV.

98 e Tor W= faehdT o1 Tgg1
D1 fdehg B DI 35D g

I 13U U [adhedl § I ol IR &1 99 DHIfoTU -

1. A-I, B-IL, C-IIL, D-IV
9. AL B1.CHL DIV
3. A-III, B-II, C-IV, D-I
4. A-IV, B-IIL, C-1, D-II

Options :

93806653257. 1

93806653258. 2

93806653259. 3

93806653260. 4

Question Number : 91 Question Id : 93806613676 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the Harmonic Mean of two numbers whose Arithmetic Mean and
Geometric Mean are 30 and 24 respectively?

1.4.8
2.9:6
3.19.2
4.76.8

Options :

93806653261. 1
93806653262. 2
93806653263. 3
93806653264. 4




Question Number : 91 Question Id : 93806613676 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sl TEIT3M1 BT gD {1 T g ST RIS AT quT STIfHfag ared
HHIT: 30 AUT24 B

1.4.8
2.9.6
3.192
4.76.8
Options :
93806653261. 1
93806653262. 2
93806653263. 3
93806653264. 4

Question Number : 92 Question Id : 93806613677 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to mathematical
properties of standard deviation?

A. Standard deviation is independent of change of origin and change of scale.
B. Standard deviation 1s independent of change of origin but not of scale.

||ln' = |
V12

D. The standard deviation of first n natural numbers 1s S -

E. For moderately skewed distributions standard deviation 1s 0.8 of mean
deviation.

C. The standard deviation of first n natural numbers is

Choose the correct answer from the options given below:

1. B and C Only
2. B, C, and E Only
3. Aand C Only
4. B, D and E Only

Options :

93806653265. 1
93806653266. 2
93806653267. 3
93806653268. 4



Question Number : 92 Question Id : 93806613677 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A [aR0T & ORI 0T & e T FHafidRad o A SIH-HH d 5y Fol o7

A. T4 gRad= a1 991 uRdcdd &1 JH$ [daR0 WA gl g
B. 7d Ui ol HI-e fa<Rul Wd= gidl § fdbd Uam &1 -1gi |
C. T n WP HeIafl &7 A feramor o gl

D. U4H n Ul {dd F134] b1 A fd=Ror \J"”'é-' ol

E. 719 {daR01 & 34 [quH fdarur &1 9P [0 0.8 B
i feu Y faseat o el SR 94:

1. Pad B 3R C
2. BAd B, C, 3R E
3. Bad A 3R C
4. Hqd B, D 3R E

Options :

93806653265. 1
93806653266. 2
93806653267. 3
93806653268. 4




Question Number : 93 Question Id : 93806613678 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I
Relative measures of Skewness

LIST-II
Formula

Karl Pearson's coefficient of
skewness

(44)°
(1,)"

Bowley's coefficient of skewness

II.

(Pgg+P0-2 Median)/ (pgg-pi0)

Kelly's coefficient of skewness

III.

(Q3+Q;-2 Median)/ (Q3-Q)

o |0|w| >

Moment coefficient of skewness

IV.

(Mean-Mode)/ Standard

Deviation

Choose the correct answer from the options given below:

1. A-I, B-IL, C-IIL, D-IV
2. A-TV, B-III, C-II, D-I
3. A-II, B-IIL, C-IV, D-I
4. A-TI, B-IV, C-1, D-II

Options :

93806653269. 1

93806653270. 2

93806653271. 3

93806653272. 4




Question Number : 93 Question Id : 93806613678 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Gal-1 & 1Y YAI-I1 BT {Trer Hifore:

N o
A. |1 fopfe o Spe o | 1 |42
B.|dI3d ddhd- Ul I1. |PggtPo-2 Median/ pgg-pg
C.| el Hpa- TuNid IM1.|Q3+Q;-2 Median/ Q3-Q,
D.|HIHeE H@q 1IUTI$ IV. [Mean-Mode/ Standard Deviation

I 13U U f[adedl H O ol 3R &1 99 Bifolu -

1. A-I, B-II, C-III, D-IV
3 AJIVEBIIL G-I TET
3. A-IL, B-III, C-IV, D-I
4. A-IIL, B-1IV, C-I, D-II

Options :

93806653269. 1

93806653270. 2

93806653271. 3

93806653272. 4




Question Number : 94 Question Id : 93806613679 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are properties of regression coefficient?

A. The coefficient of correlation and the two regression coefficients have the
same signs.

B. The coefficient of correlation is the harmonic mean between the regression
coefficients.

C. If one of the regression coefficient is greater than unity, the other must also
be greater than unity.

D. If one of the regression coefficient is greater than unity, the other must be
less than unity.

E. The regression coefficient are independent of change of origin but not of
scale.

Choose the correct answer from the options given below:

1. Aand D Only
2. B, C and E Only
3. A, B and C Only
4. A, D and E Only
Options :
93806653273. 1
93806653274. 2
93806653275. 3
93806653276. 4



Question Number : 94 Question Id : 93806613679 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fraferRad o & BI--DI 3 Ufav= uiic & 71 g2

A. Fg-HdE U TUT AT Ui & g T SR g1 €

B. g-J« Ui, WIHTH 0id & & g0eTP WA

c. afe ufamaA ﬁﬁﬁg¢%qsﬂ{%ﬁmﬁwmaﬁl

D.Hﬁqﬁﬂﬂ?{wﬁﬁaﬂﬁkqo“érqsm%ﬁamuqoﬁqmd{am
Y

E. Jd YRad- BT Wi TUld W= Idl g [dbd UHM BT ol |

A1) Forw 1w Faed & ) SR 9

1. Had AR D

2. HAd B, C 3R E
3. Had A, B3R C
4. DAA A, D 3R E

Options :

93806653273. 1
93806653274. 2
93806653275. 3
93806653276. 4

Question Number : 95 Question Id : 93806613680 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If a random variable X follows a Poisson distribution such that
P(X=1)=4P (X=2)
The variance of X 1s

1. 122

.5

5.2

4.1/4
Options :
93806653277. 1
93806653278. 2
93806653279. 3
93806653280. 4



Question Number : 95 Question Id : 93806613680 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i Ud grefwsd 9 X UroiH Aol @1 S{F-{-01 Sl § ol fdb P(X=1) = 4P
(X=2), X BT IR g -

L. 12

2.1

3.2

4.1/4
Options :
93806653277. 1
93806653278. 2
93806653279. 3
93806653280. 4

Question Number : 96 Question Id : 93806613681 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of Research Design Process

A. Measurement technique selection
B. Research approach selection

C. Data collection technique selection
D. Sample design selection

E. Data analysis method selection

Choose the correct answer from the options given below:

1. A, B C.DE

2.B,A,D,C,E

3.D,C,E.A, B

4.C,E,D,B,A
Options :

93806653281. 1
93806653282. 2
93806653283. 3
93806653284. 4



Question Number : 96 Question Id : 93806613681 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SRS URSY Ufchdl & Tl oA Bl ugdi-1a

A. HIUH d&-1d BT 99
B. 34 U<id &1 98-
C. b ol UG db-Id Dl II-

D. Ufdew UReg &1 994
E. 3{h ol [d2evu fafel o1 994

A1) Forw 1w Faed & ) SR 9

1.A,B,C,D,E
2.B,A,D,C,E
3.D,C,E,A,B
4.C,E,D,B,A
Options :

93806653281. 1
93806653282. 2
93806653283. 3
93806653284. 4

Question Number : 97 Question Id : 93806613682 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The questions that are actually asked from the respondent are known as:

1. Management Questions
2. Research Questions
3. Investigative Questions
4. Measurement Questions
Options :
93806653285 1
93806653286. 2

93806653287. 3
93806653288. 4



Question Number : 97 Question Id : 93806613682 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IR < arad I add | {5 718 Uy B S =9 | ST Sl 6 -

1. 9dY UH
2. 3T Uy
3. 3-dl¥d Uy
4, {199 UY

Options :

93806653285. 1
93806653286. 2
93806653287. 3
93806653288. 4

Question Number : 98 Question Id : 93806613683 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the correct sequence of sampling design process
A. Determine the Sample size
B. Selecct a sampling technique

C. Selection of sampling frame
D. Defining target population

Choose the correct answer from the options given below:

]
.

.

nw}w
wogn

W
o> W
> ag

E)
Options :

93806653289. 1
93806653290. 2
93806653291. 3
93806653292. 4



Question Number : 98 Question Id : 93806613683 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT URSY Ufchar & Hel i DI g

A. THAT DR B (ERUT
B. AT A1 P 9T

C. AT ST &1 99
D. Wi&fd SIEEAT I GRUTNT BT

B ]
B

NP w
WoY0
e o

]

il i =
o> W >

5
Options :

93806653289. 1
93806653290. 2
93806653291. 3
93806653292. 4

Question Number : 99 Question Id : 93806613684 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The parametric test that can be used for hypothesis testing of paired samples is:

1.t test:

2. z test

3. Chi-Square test

4. Mann-whitney test
Options :
93806653293. 1
93806653294. 2

93806653295. 3
93806653296. 4



Question Number : 99 Question Id : 93806613684 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y feieh GRI&10T foraesT UanT ga HHi o TR ed-1 GR1aful gd fban S o

3

1. t GRIEu
2 zq_ﬁ&fUT
3. DIG-IDIR TRI&0T
4. F-fgeTa gdieur

Options :

93806653293. 1
93806653294. 2
93806653295. 3
93806653296. 4

Question Number : 100 Question Id : 93806613685 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-I
Components commonly present in reports

LIST-II
Contents

A.|Prefatory Information [. |Executive Summary
B.|Introductory Information II. | Glossary

C.|Main Research Body III.| Problem Definition
D.[Supplementary Information IV.|Research Design

Choose the correct answer from the options given below:

1. A-1, B-IL, C-IIL, D-IV
2. A-II, B-I, C-IV, D-III
3, AL BIIL CILD IV
4. A-1, B-IL, C-IV, D-II

Options :

93806653297. 1

93806653298. 2

93806653299. 3

93806653300. 4




Question Number : 100 Question Id : 93806613685 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Gal-1 & 1Y YAI-I1 BT {Trer Hifore:

a1 11
A.| IR T I |BRiur® dad
B.|afam® gl 1L |YeaTUg
C. |G S HNT TIL. | GHIT GRHTNT
D.|HU AT IV. | I Y=g

A 14U TN f[ddedl § I ol 3R &1 99 Hifofu -

1. A-I, B-II, C-III, D-IV
2. A-IL, B-1, C-IV, D-III
3. A-I, B-II, C-II, D-IV
4. AL, B-IL, C-IV, D-II

Options :

93806653297. 1

93806653298. 2

93806653299. 3

93806653300. 4

Question Number : 101 Question Id : 93806613686 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A type of validity which demonstrates statistically a relationship between scores
on a selection procedure and job performance is called:

1. Test validity

2. Criterion validity
3. Content validity
4. Construct validity

Options :

93806653301. 1
93806653302. 2
93806653303. 3
93806653304. 4




Question Number : 101 Question Id : 93806613686 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UH UBR I a4dl, Sif fob 91 Ufchar aur i Asare & A« gifeTa g dae
I RAE TG ®, ..o FHedldl o

1. ORI&M0T derd
2. BCT aEdT
3. U7 /el
4. ST JEICT

Options :

93806653301. 1
93806653302. 2
93806653303. 3
93806653304. 4

Question Number : 102 Question Id : 93806613687 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ongoing process of systematically identifying, assessing and developing
organisational leadership to enhance performance is known as:

1. Strategy and Workforce planning
2. Predictive Workforce Monitoring
3. Succession Planning

4. Managerial Judgement

Options :

93806653305. 1
93806653306. 2
93806653307. 3
93806653308. 4



Question Number : 102 Question Id : 93806613687 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

B Y& 1 Ydls 8 JHaRYd ¥4 I UgdH &R, Sddd HI- 9
ARTSA® g B f[apRid 3 aﬁmqmﬁﬂﬂﬁﬁwwﬁm%‘?

1. YA 9 SRISd 3o
2. YA GdD D (TR
3. SWRINYDBR IS

4. Udy g o

Options :

93806653305. 1
93806653306. 2
93806653307. 3
93806653308. 4

Question Number : 103 Question Id : 93806613688 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Keeping a record of uncommonly good or undesirable examples of an
employee's work-related behaviour and reviewing it with the employee at pre-
determined times is known as:

1. Behaviorally Anchored Rating Scale
2. Critical Incident Method

3. Paired Comparison Method
4. Mixed Standard Scales
Options :
93806653309. 1
93806653310. 2
93806653311. 3
93806653312. 4



Question Number : 103 Question Id : 93806613688 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et FHIRT & S Gafd FdgR & EHRI B9 I 399 3Ydl 3aig-1g
JERUN Dl RebTS RGHT SHR gd FeTRa T (G0l R SHAR! & a1y 59|
gt o3 & 9 5 3 fog =9 1 9F1 oirdr g2

1. SOggR 3t goft ek hd
2. Hgw@yUl geAT [afd

3. oy gaAT fafe
4. THI9d AF® W d
Options :
93806653309. 1
93806653310. 2
93806653311. 3
93806653312. 4

Question Number : 104 Question Id : 93806613689 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Matrix Structure can be made more effective by following which of the
guidelines given below?

A. Collective learning, coordination and integration of skills for obtaining the
streams of technology.

B. Define the objectives of the project or task.

C. Clarify the roles, authority and responsibilities of managers and team
members.

D. Ensure that influence is based on knowledge. information, rather than on
rank.

E. Balance the power of functional and project managers.

Choose the correct answer from the options given below:

1. A, B, C, D Only

2. A, B, D and E Only
3. B, C, D, and E Only
4. A

G,
, B, C, E Only

Options :

93806653313. 1
93806653314. 2
93806653315. 3
93806653316. 4



Question Number : 104 Question Id : 93806613689 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e o 3 fape femnfadarl &1 srgura or Afcaw I &1 3R 3iferes gurdt
ST S Fabdll 52

A. UIIIRTDT UaTg Uit - o AHoD S, G999 d DI Bl GHDA|
B. RIS 3{4al D1 & I, I GRHINT BT

C. Usepi 9 S G| ol YT, TR 9 ITRalid@l &l TF Sl

D. g IR Bl fb ¥ I FolIU YHT JH 311R a1 UR HETR Bl |

E. foham=iiel SR RIS Uatd! &1 Qfad ! Adferd B

A1) Forw 1w Faed & ) SR 9

1.$dd A, B,C,D
2. Bad A, B, D 3R E
3. ®Ad B, C, D, 3R E
4, HAAA,B,C,E

Options :

93806653313. 1
93806653314. 2
93806653315. 3
93806653316. 4



Question Number : 105 Question Id : 93806613690 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1

LIST-IT

A.|Job enlargement

A list of jobs 'human
requirements', 1.e the requisite
education, skills, personality etc.

B.|Job descriptions

I1.

A list of jobs duties,
responsibilities, reporting
relatonships, working conditions
and supervisory responsibilities.

C.|Job specifications

I11.

Assigning workers additional
same level activities.

D.|Job enrichment

I'V.

Redesigning jobs in a way that
increases the opportunities for the
workers to experience feelings of
responsibility, achievement,
growth and recognition.

Choose the correct answer from the options given below:

1. A-III, B-II, C-L, D-IV
2. A-IV, B-II, C-I, D-III
3. A BLCIL DIV
4. A-IV, B-II, C-III, D-1

Options :

93806653317. 1

93806653318. 2

93806653319. 3
93806653320. 4




Question Number : 105 Question Id : 93806613690 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Gal-1 & 1Y YAI-I1 BT {Trer Hifore:

A1

Tt

A.|BT gikas

BT D A MMAIDH AT DI
It SryTd Sruférd fRuem, Hier,
fada, sife

B.|®1] faazu

II.

HI P B!, IRl
fART&ror S<RaTA@l i 3=t

C. | fafRrPHzor

I11.

HHARG! BT Sffafad ga=
T farp ey Qg

D.|&1d dasfa

IV.

B Bl 59 UPR G: AN BIeUd
Bl [ eIl DI
IRalAd, Judis, 9fs 9
Il DT HIGATSHT Dl SfgHd
®HRH & SfaaR| H 9f< Bl

A 14U TN f[ddedl § I ol 3R &1 99 Hifofu -

1. A-IIL, B-IL, C-1, D-IV
2. A-IV, B-II, C-I, D-III
3. AN BALCAIT Dy
4. A-IV, B-II, C-III, D-I

Options :

93806653317. 1

93806653318. 2

93806653319. 3

93806653320. 4




Question Number : 106 Question Id : 93806613691 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The State Bank Of India came into existence in the year:

1. 1947
2. 1950
3..1955
4. 1969

Options :

93806653321. 1
93806653322. 2
93806653323. 3
93806653324. 4

Question Number : 106 Question Id : 93806613691 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

YR We db 9 H 1 fog ay sifkia | smmr

1. 1947
2. 1950
A, 1955
4. 1969
Options :
93806653321. 1
93806653322. 2
93806653323. 3
93806653324. 4

Question Number : 107 Question Id : 93806613692 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A term loan becomes Non Performing Asset (NPA) if its interest and/or
instalment of principal remains overdue for a period of more than:

1. 30 days
2. 60 days
3. 75 days
4. 90 days

Options :

93806653325. 1
93806653326. 2
93806653327. 3
93806653328. 4



Question Number : 107 Question Id : 93806613692 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U SAlF B Y T A (a1 T sa1eT SR/ 314l 7d o4 B (b= Sial
9 B W 3{oiP ST (NPA) § Sl 2

1.30 e
2. 60 fe
3.75 e
4.90 e

Options :

93806653325. 1
93806653326. 2
93806653327. 3
93806653328. 4

Question Number : 108 Question Id : 93806613693 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

An unsecured short term promissory note, negotiable and transferable by
endorsement and delivery with a fixed maturity period, issued at a discount by
creditworthy corporates, primary dealers and all-India financial institutions is
known as:

1. Treasury Bill

2. Commercial Paper

3. Certificates of Deposit
4. Repo

Options :

93806653329. 1
93806653330. 2
93806653331. 3
93806653332. 4



Question Number : 108 Question Id : 93806613693 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U RI& Y A1 & 9919 Dl oIl URehPY 9 §dH gRT SRRV § 3R
fSrgenT et Fad givadar safd A § SR SR 3501 99 SRURE, Wy
SIeRI 3R SiRad UR fa<iiy Gl gRIgce R ORl f[daroma s, Fad A
[opg =4 T ST SIIdT 52

1. SN fdux
2. gifica® faua

3. {8 yarogs
4,341

Options :

93806653329. 1
93806653330. 2
93806653331. 3
93806653332. 4

Question Number : 109 Question Id : 93806613694 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order of the Milestone achieved by the
National Stock Exchange of India

A. Commencement of Trading in Index options

B. Launch of securities Lending and Borrowing Scheme

C. Commencement of Derivatives Trading in Index Futures
D. Launch of Mutual Fund Service System

E. Launch of S & P CNX Nifty

Choose the correct answer from the options given below:

1.B,D,E,A, C
2.A,C,E,B,D
3.E,A,C,D,B
4. E,C,A,B,D

Options :

93806653333. 1
93806653334. 2
93806653335. 3
93806653336. 4



Question Number : 109 Question Id : 93806613694 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR AP Wb TaRTdSl (NSE) Bl Hedqul SUi<rdi Bl HIellIeh i hH
o AT BT

A. gABD (So0Y) f[dbedl § AR BT 3RY

B. Uidfd SBUIG 9 IUR WhiH BT URY

C. gabiP dge] 1§ gdd AR BT URY

D. BI3{d 1S Jdl HUITell T URY

E. UY US Ul HivaueRy (Aue! &1 gRY

A1) Forw 1w Faed & ) SR 9

1.B,D,E, A, C
2.A,C,E,B,D
3.E,A,C,D,B
4. E,. C,A;B, D

Options :

93806653333. 1
93806653334. 2
93806653335. 3
93806653336. 4

Question Number : 110 Question Id : 93806613695 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following year Investor Protection and Education Fund
Regulations was issued by the Securities and Exchange Board of India?

1. 1992
2.3999
3.2003
4. 2009

Options :

93806653337. 1
93806653338. 2
93806653339. 3
93806653340. 4



Question Number : 110 Question Id : 93806613695 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HR ufay(a 9 fafge 918 A g o 3 foow au o (Aare dvafor g fRien fAf
EIEEESINICaURE

1. 1992
2. 1999
3.2003
4. 2009
Options :
93806653337. 1
93806653338. 2
93806653339. 3
93806653340. 4

Question Number : 111 Question Id : 93806613696 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Symbols, Icons, Rituals and values are the manifestations of:

1. Social class

2. Culture

3. Sub-culture
4. Social Factors

Options :

93806653341. 1
93806653342. 2
93806653343. 3
93806653344. 4

Question Number : 111 Question Id : 93806613696 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ydllcp, UTdHT (3113, PHDIS d HH (Y A ¥ fhasml UdhIau g2

Options :

93806653341. 1
93806653342. 2
93806653343. 3
93806653344. 4



Question Number : 112 Question Id : 93806613697 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term ‘marketing myopia’ was coined by:

1. Philip Kotler

2. Gary Armstrong
3. Peter Drucker
4. Theodore Levitt

Options :

93806653345. 1
93806653346. 2
93806653347. 3
93806653348. 4

Question Number : 112 Question Id : 93806613697 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fquue fgeedar @nd e amifoan ue @i g ° 9 feam er um

1. fthfer Sleer
2. TRT SERCRAT

3. UleR g

4. f9aSR dfde

Options :

93806653345. 1
93806653346. 2
93806653347. 3
93806653348. 4

Question Number : 113 Question Id : 93806613698 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Levitt and Drucker, the essence of marketing is:

1. Profit Orientation

2. Product Orientation
3. Market Orientation

4. Customer Orientation

Options :

93806653349. 1
93806653350. 2
93806653351. 3
93806653352. 4



Question Number : 113 Question Id : 93806613698 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dfde 3 IR & IR, AU ST IR Mg d A |1 52

1. 1Y ST
2. 3G A

3. |V 3-HYdI
4. dleP sHddl
Options :
93806653349. 1
93806653350. 2
93806653351. 3
93806653352. 4

Question Number : 114 Question Id : 93806613699 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following human needs as per Maslow's Hierarchy of needs.

A. Social Needs

B. Safety Needs

C. Esteem Needs

D. Physiological Needs

E. Self-actualisation Needs

Choose the correct answer from the options given below:

1.D,B,ACE

2.A,B,C,D,E

£ B.B.CEA

4.D,A,B,C,E
Options :

93806653353. 1
93806653354. 2
93806653355. 3
93806653356. 4



Question Number : 114 Question Id : 93806613699 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TRA & I D IS & AU & AR, 9 T-dR sagadisii &1
m@ﬂaﬂﬁlﬂ:

A. IS ATaIH AU
B. IR& SHIRIDB A

C. W AEHAU
D. YIRINSG HGagH
E. 31 Rifg sawgahdmg

A1) Forw 1w Faed & ) SR 9

1.D,B,A,C,E
2.A,B,C,D,E
3.B,D,C,E, A
4.D,A,B,C,E
Options :

93806653353. 1
93806653354. 2
93806653355. 3
93806653356. 4



Question Number : 115 Question Id : 93806613700 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following stages of Adoption process in correct order:

A. Interest

B. Awareness
C. Trial

D. Evaluation
E. Adoption

Choose the correct answer from the options given below:

1.A,D,C,B,E

2.A,B,C,D,E

3B CAED

4.B,A,D,C,E
Options :

93806653357. 1
93806653358. 2
93806653359. 3
93806653360. 4

Question Number : 115 Question Id : 93806613700 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR Ui & Y TRUN ] ol HHHIR AR DIfIT:

NS
B. SINR=ahdl
C. GRI&ur

D. ™D
E. 3110l

A fou e fas et # Tel STR I

1.A,D,C,B,E

2.A,B,C,D,E

> B.CAED

4.B,A,D,C,E
Options :

93806653357. 1
93806653358. 2
93806653359. 3
93806653360. 4



Question Number : 116 Question Id : 93806613701 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following methods belong to the category of demand/market-based
pricing?

A. Surge pricing

B. Premium pricing

C. “What the traffic can bear’ pricing
D. Discount pricing

E. Parity pricing

Choose the correct answer from the options given below:

1. A, B, C and D Only
2. B, C and D Only
3. A, B and C Only
4. C,D and E Only

Options :

93806653361. 1
93806653362. 2
93806653363. 3
93806653364. 4



Question Number : 116 Question Id : 93806613701 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 7 O B3 i At wimaeR srenfia g AuRor gof 3 Hefea g2

A. Uiy (Fol) Ted (HgiRur

B. Uiftraw e feiRor

C. TSI 984 81 Jdb' (GBI & <fthp B d1AR) Yed LRI
D. e geq gk

E. 1 el HaRum

A1) Forw 1w Faed & ) SR 9

1. Pdd A, B, C 3R D
2. ®Hdd B, C 3R D
3. ®Had A, B3R C
4. H9d C,D 3R E

Options :

93806653361. 1
93806653362. 2
93806653363. 3
93806653364. 4



Question Number : 117 Question Id : 93806613702 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of New Product Development in sequential order:

A. Product Development

B. Feasibility Analysis

C. Concept Development and Testing
D. Identifying Prospective customers
E. Idea Generation

Choose the correct answer from the options given below:

1.A,B,C,E.D
2.D,E,B,C, A
3. E,D,C,B,A
4.E,B,C,A,D

.
.
.

Options :

93806653365. 1
93806653366. 2
93806653367. 3
93806653368. 4

Question Number : 117 Question Id : 93806613702 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

419 @G (B & Y9 HeHl DI STHHHIR AR DITOIT:

A. 3dIG f[dbr™g
B. AdgRidr fazayor
C. 3R [AH T g ultefor

D. UAIRId A18dh| &I Ugd- Bl
E. faar Ikl

1.A,B,C,E,D
2D E. B C.A
3D B A
4.E,B,C,A,D
Options :

93806653365. 1
93806653366. 2
93806653367. 3
93806653368. 4



Question Number : 118 Question Id : 93806613703 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Geographical Price differentials include which of the following?

A. F.O.B Factory Pricing
B. Zone Pricing

C. Loss Leader Pricing
D. Postage Stamp Pricing
E. Basing Point Pricing

Choose the correct answer from the options given below:

1. A, B, C and D Only
2. B, C, D and E Only
3. A, B,Dand E Only
4. B, D and E Only

Options :

93806653369. 1

93806653370. 2

93806653371. 3
93806653372. 4



Question Number : 118 Question Id : 93806613703 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

NeifRrep e RivYaas 7 g 3 @ .o i &

A. TH3IE! el e (R
B. SIIF G (4RI

C. B 3R g fAeiRur

D. URCS &Y g (HgRup

E. a7 @irge g ekl

A1) Forw 1w Faed & ) SR 9

1. Pad A, B, C 3R D
2. ®Had B, C,D 3R E
3. Had A, B, D 3R E
4. HqAB,D 3R E

Options :

93806653369. 1
93806653370. 2
93806653371. 3
93806653372. 4



Question Number : 119 Question Id : 93806613704 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1

LIST-IT

A.|Perception

A descriptive thought that a
person holds about something.

B.|Learning

IL.

A person's consistently favourable
or unfavourable evaluations,
feelings and tendencies toward an
object or idea.

C.|Belief

III.

Changes in an individual's
behaviour arising from
experience.

D.|Attitude

IV.

The process by which people
select, organise and interpret
information to form a meaningful
picture of the world.

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-III, B-IV, C-II, D-I
3. A-IV, B-III, C-1, D-TI
4. A-TI, B-II, C-I, D-IV

Options :

93806653373. 1

93806653374. 2

93806653375. 3

93806653376. 4




Question Number : 119 Question Id : 93806613704 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Gal-1 & 1Y YAI-I1 BT {Trer Hifore:

a1

1T

A.|dTe

foodt dor & e # foredt safad
&RI 41d auiaTdHS f[aaR|

B. |3{[erTH

II.

fhdl 9% sryar f[darR & ufd
for ) aafad &1 amaR Iud ug
31T faRiey H§ Hedidh1, HId 3R
ugid|

I11.

fopdt cufad & ogagR o siquq
I Iad uRad|

D. | 3if¥rgf

IV.

dg ufchar fSrye ared J v
a1 3yt o a9 & fore
YA BT 994, 3 HIdd §-1d
§ AR AR B G |

I 13U U f[adedl H O ol 3R &1 99 Bifolu -

1. A-I, B-TI, C-III, D-IV
% AL BT, C-IL D
3. A-IV, B-III, C-I, D-II
4. A-TL, B-III, C-I, D-IV

Options :

93806653373. 1
93806653374. 2
93806653375. 3
93806653376. 4




Question Number : 120 Question Id : 93806613705 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LISTI LIST-II
Stages of Product Life Cycle Types of Customers
A.|Introduction I. |Laggards
B.|Growth I1. [Early adopters
C.|Maturity II1. [ Middle majority
D.|Decline IV. [Innovators

Choose the correct answer from the options given below:

1. A-I, B-IL, C-II, D-IV
2. A-II, B-III, C-1, D-IV

3. A-IV, B-II, C-III,

D-I

4. A-IIL, B-IT, C-TV, D-I

Options :

93806653377. 1
93806653378. 2
93806653379. 3
93806653380. 4




Question Number : 120 Question Id : 93806613705 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

GI-1 & 1Y Yei-11 DT [T Pifore:

T T
(IS Sig- = & =) mﬂm

| TEqdipRun I |[fhagsl

[EEar| I1. | 3fiRfb Uguradi

EIE

gRgeadr II1. | e SgHd

AEPEND IV, |[audds

I 13U U [adhedl § I ol IR &1 99 DHIfoTU -

1. A-I, B-IL, C-IIL, D-IV
9. AL B, CUL DIV
3. A-IV, B-II, C-III, D-I
4. A-TII, B-TI, C-IV, D-I

Options :

93806653377. 1

93806653378. 2

93806653379. 3

93806653380. 4

Question Number : 121 Question Id : 93806613706 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In India, the term of every utility patent granted shall be of years.

1. 10
2,20
3.30
4.50

Options :

93806653381. 1
93806653382. 2
93806653383. 3
93806653384. 4



Question Number : 121 Question Id : 93806613706 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR T Uad Y SYARIT g 34l a1 H uce &1 3fafa Yy ol
gl

1. 10
2.20
3.30
4.50

Options :

93806653381. 1
93806653382. 2
93806653383. 3
93806653384. 4

Question Number : 122 Question Id : 93806613707 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Active concealment of fact” 1s associated with which one of the following?

1. Misrepresentation
2. Undue influence
3. Fraud

4. Mistake

Options :

93806653385. 1
93806653386. 2
93806653387. 3
93806653388. 4

Question Number : 122 Question Id : 93806613707 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

al 1 Alcbd Fu (A5 1 3 fbad 9s1 82

4. ITcl
Options :
93806653385. 1
93806653386. 2
93806653387. 3
93806653388. 4



Question Number : 123 Question Id : 93806613708 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is a horizontal agreement?

1. Tie in arrangement

2. Resale Price maintenance
3. Cartel
4. Exclusive Distribution

Options :

93806653389. 1
93806653390. 2
93806653391. 3
93806653392. 4

Question Number : 123 Question Id : 93806613708 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 A ¥ DI U IR HIR i1 82

Options :

93806653389. 1
93806653390. 2
93806653391. 3
93806653392. 4



Question Number : 124 Question Id : 93806613709 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of incorporation of a new Limited Liability
Partnership in proper sequence.

A. Reserve LLP Name

B. Preparation of Documents for Incorporation of LLP
C. Procure Digital Signature Certificate

D. LLP incorporation and DIN Application and apply for PAN and TAN
E. Drafting and filling LLP Agreement

Choose the correct answer from the options given below:

1.B,A,C,D,E
2.A,B,C,E,D
3.C,A,B,D,E
4.D,E,B,A,C
Options :

93806653393. 1
93806653394. 2
93806653395. 3
93806653396. 4



Question Number : 124 Question Id : 93806613709 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U 5 AT gar arel HATTERT AT & -9 Sl &1 qafd siHd o
m@ﬂaﬂﬁlﬂ:

A. TAUAUL ATH BT SRET]

B. UAUAYl SRI1YH 5 SXIGsll ol dR D=l

C. 3P SXATE&R THIUUH UTET HRAT

D. TAUQY! TR 9 Sl3zu4 3fde 9 4l 3R duu gq 3fided
E. TAUAUl PR BT HIAIGT dIR BT 3R BIgd Bl

A1) Forw 1w Faed & ) SR 9

1.B,A,C,D,E
2.A,B,C,E,D
3.C,A,B,D,E
4.D,E,B,A,C
Options :

93806653393. 1
93806653394. 2
93806653395. 3
93806653396. 4



Question Number : 125 Question Id : 93806613710 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who can file petition to the Tribunal for the Winding up of a Limited Liability
Partnership?

A. Secured Creditors

B. LLP or any of its Partners

C. Registrar of Companies

D. Any person authorised by the central Government
E. Any Voluntary Association

Choose the correct answer from the options given below:

1. A, B, C Only

2. Aand B Only

3. A,B, Cand D Only
4. B, C and E Only

Options :

93806653397. 1
93806653398. 2
93806653399. 3
93806653400. 4



Question Number : 125 Question Id : 93806613710 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

@%%ﬂﬁﬂ@?ﬁﬁﬂ%ﬂﬂﬁ%%ﬂ@mﬁaﬁaﬁqmﬁaﬂwaﬁ
T 82

A. 3RI&T FBUGId!

B. UTAUQU! O1 $I5 3D ALGR
C. I IURER

D. ¥ THR &R Wgd HIS o1fad
E. Dl Wlwd THIRUIH

1.HAd A, B, C

2. HAd A 3R B

3. AT A, B, C 3R D
4. HAAB, C 3R E

Options :

93806653397. 1
93806653398. 2
93806653399. 3
93806653400. 4




Question Number : 126 Question Id : 93806613711 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps involved in the process of Voluntary Liquidation of a
Limited Liability Partnership in correct order.

A. Declaration of Solvency

B. Designated Partners' Meeting

C. Partners' Meeting

D. Identification of an Insolvency Professional as liquidator

E. Filling of resolutions with registrar of Companies and Insolvency and
Bankruptcy Board of India (IBBI)

Choose the correct answer from the options given below:

1.A,B,C,D,E
2.C.B.D AE
3.A,D,B,C,E
4ED.C.BA
Options :

93806653401. 1
93806653402. 2
93806653403. 3
93806653404. 4



Question Number : 126 Question Id : 93806613711 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

iy cadar aEieRt & Wiwss ufaamg- «f ufsear & wnfie Fafeafada
HeHl Bl Tol vH H HaATRId B

A. QI¢&HdT DI YT

B. AfCy IA8ieR] @ 6@

C. ARIGRI I 43F

D. URIHUD & Y H A3 URdR Bl UgdH

E. D1 IORER 3R YR e H&dr 3R feard d1S & urd dbed
GIR DAl

1.A,B,C,D,E
2. C.B.D.AE
3 A LB CE
4.E,D,C,B,A
Options :

93806653401. 1
93806653402. 2
93806653403. 3
93806653404. 4



Question Number : 127 Question Id : 93806613712 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In case of transmission of shares, which of the following is correct?

A. No instrument of transfer is required.

B. Transmission of securities is generally made without any consideration.
C. Shares continue to be subject to the original liabilities.

D. Transmission takes place on death or insolvency of a holder of securities.
E. Stamp duty is payable on transmission of securities.

Choose the correct answer from the options given below:

1. A, B, C and D Only
2. B, C and D Only
3. C,D and E Only
4. A, B, C Only
Options :
93806653405. 1
93806653406. 2

93806653407. 3
93806653408. 4



Question Number : 127 Question Id : 93806613712 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

AR} & 3Rl b Haie T (AafeiRad o A D1 98 ©

A. Tl GXAIARUI A1eH DI TGl ol oidl o |

B. Ulayfcdl &1 {aRur A= f&-T fdbl ufdnwd & gidr gl

C. IR A i3 & e s 35d 5 |

D. R0 Gidfd YR I TG A1 M H&dr i YT T gidl g
E. Y[l & 3{aRuI R €Y e oF gidl o

A1) Forw 1w Faed & ) SR 9

1. Pdd A, B, C 3R D
2. ®Hdd B, C 3R D
3. ®dd C,D 3R E
4. HAA A, B, C

Options :

93806653405. 1
93806653406. 2
93806653407. 3
93806653408. 4



Question Number : 128 Question Id : 93806613713 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LISTI LIST-II
A.|Section 2 (85) I. |Associate Company
B.|Section 455 II. [Producer Company
C.|Section 378A III. | Dormant Company
D.|Section 2 (6) IV.[Small Company

Choose the correct answer from the options given below:

1. AL, B-IL, C-III, D-IV
2. A-L B-III, C-II, D-TV
3. A-II, B-IIL, C-1, D-IV
4. A-IV, B-IIL, C-II, D-I

Options :

93806653409. 1

93806653410. 2

93806653411. 3

93806653412. 4



Question Number : 128 Question Id : 93806613713 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Gal-1 & 1Y YAI-I1 BT {Trer Hifore:

AL -1
A.|8RT 2(85) 1. |vaiRue ot
B.| YR 455 I [3dIGP HIu-]
C.|YRT 378A TI1. | IR ST
D. |¢[RT 2(6) IV. [®ICt S

A 14U TN f[ddedl § I ol 3R &1 99 Hifofu -

1. A-I, B-TI, C-III, D-IV
2. A-I, B-MII, C-TI, D-IV
3. A-IL, B-III, C-1, D-IV

4. A-IV, B-TII, C-TI, D-I

Options :

93806653409. 1
93806653410. 2
93806653411. 3
93806653412. 4




Question Number : 129 Question Id : 93806613714 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What rights does an unpaid seller have against the goods?

A. Right of lien

B. Right to sue for specific performance
C. Right of resale

D. Right of stoppage of goods in transit

E. Right to reorganise possession of goods

Choose the correct answer from the options given below:

1. A, B and C Only
2. B, C and D Only
3. C,D and E Only
4. A, C, D Only
Options :
93806653413. 1
93806653414. 2

93806653415. 3
93806653416. 4



Question Number : 129 Question Id : 93806613714 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

[qohar for AT g1 [T 71T § &1 HTd UR &1 SHIEHR Il 52

A. TgUNMEPR

B. fafR1y SrifAsIeA & fou gohedr 9 ol DR
C. U: Taishl R 1 3HfEIpR

D. Yol ST X AT @] b DT SAUPR

E. H1d & dheoll bl AR B DI HABR

A1) Forw 1w Faed & ) SR 9

1. Pad A, B3R C
2. Had B, C 3R D
3. Had C, D 3R E
4. HAA A, C,D

Options :

93806653413. 1
93806653414. 2
93806653415. 3
93806653416. 4

Question Number : 130 Question Id : 93806613715 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the primary liability of the drawer of a bill of exchange or cheque?

1. Liability to compensate the holder incase of dishonour.
2. Liability to pay the amount at maturity.
3. Liability to provide sufficient funds to the drawee.
4. Liability to pay the holder without any condition.
Options :
93806653417 1
93806653418. 2

93806653419. 3
93806653420. 4



Question Number : 130 Question Id : 93806613715 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafaw oz a1 9% & SMeRuddl & Ui <l 991 g2

1. YT 6l g @1 [T H ¢RS® B &ffaafd &= o1 <o
2. URYHAl DI AR YA DA I oddl
3. 3{GIPdl DI Tt S-RIRI ¢ B ¢gdl
4. T991 =< YRP D1 YA B B agdl

Options :

93806653417. 1
93806653418. 2
93806653419. 3
93806653420. 4

Question Number : 131 Question Id : 93806613716 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

If the employee pays tax within the parameters of alternative tax regime under
section 115 BAC then from assessment year 2025-26, standard deduction from
salary income is:

1. NIL
2. 350,000 or gross salary, whichever is lower
3. 75,000 or gross salary, whichever is lower
4. 340,000 or gross salary, whichever is lower
Options :
93806653421. 1
93806653422, 2
93806653423. 3
93806653424, 4



Question Number : 131 Question Id : 93806613716 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i U HHART URT 115 BAC & 3cHId dbicld HR AaRIT & AHGS] &
(X R YA Rl § dl a8 2025-26 & DR LR IY F 9 I A
Helkil (X 8o [Sa=H) &

1. |
3 gqooo*a.mwaaqﬁﬂﬂam@
3. 75,000 3. g1 9 d da- ol HI HH 8l |

4. 40,000 =, g1 9FHd da- ol HI HH B
Options :
93806653421. 1
93806653422.2
93806653423. 3
93806653424. 4

Question Number : 132 Question Id : 93806613717 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-II
Item Section

Deduction in respect of medical

. : I. |Section 8R0CCH
Insurance premium

Deduction in case of a person

withdisabiligy AL, [Gection:SHl)

Deduction in respect of interest

on loan taken for higher education II.|Section 80U

e,

Deduction in respect of

contribution to Agnipath Scheme IV. [Section 80E

D.

Choose the correct answer from the options given below:

1, AV BT GO, T
2. A-III, B-IV, C-1, D-II
1A B AN D
4. A-I, B-II, C-III, D-IV

Options :

93806653425. 1

93806653426. 2

93806653427. 3

93806653428. 4



Question Number : 132 Question Id : 93806613717 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Gdi-1P 1Y GI-11 DT (e HISIT:

LI Hal-1I
) I (UTR)
A. Iéllgiﬂa”a:'m;mi' A & el | I [¢RT 80CCH
B.|:21ad aafdd & d&e H deldl |11 [¢R7 80D
I R &b fere fere u ssor i
- |<arst & <isy & ped . (R
- gﬁ’mwﬁwﬁuﬁwaiﬂaa S E—

I 13U 7T [Adhed] § O ol 3R &1 99 BifoTu

1. A-IV, B-1, C-II, D-III
2. A-TIL, B-IV, C-1, D-II
3, ATE BN CAIV D
4. A-I, B-I1, C-IIL, D-IV

Options :

93806653425. 1

93806653426. 2

93806653427. 3

93806653428. 4




Question Number : 133 Question Id : 93806613718 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The scheme of partial integration of tax or non-agricultural income with income
derived from agricultural is applicable if an individual has:

1. Non-Agricultural income of more than the exemption limit or agricultural
income exceeding I5000
2. Non-Agricultural income of more than the exemption limit or agricultural
income exceeding I2500
3. Non-Agricultural income of more than the exemption limit and agricultural
income exceeding 32500
4. Non-Agricultural income of more than the exemption limit and agricultural
income exceeding I5000
Options :
93806653429. 1
93806653430. 2

93806653431. 3
93806653432. 4

Question Number : 133 Question Id : 93806613718 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DN I U 3R b 1Y TR PN 31 W DR & H{(RAD Uh D[ DI IS AR,
¢ Ife ue aufada &

1. 9 I JATH A 3P TR-BIN 3119 T 5000 . 3 3{(YD BV 317 g
2. ¢ DI AMAT Y D TR-BIY 31T 12500 & I 3YH DY 319 5
3. ¢ DI AMAT Y D TR-DY 31T 3R 2500 =. A 3P DY 34 5
4. ¢ | AH1 Y 3P TR-DN 31 3R DN 31 5000 F=. I (€D g

Options :

93806653429. 1
93806653430. 2
93806653431. 3
93806653432. 4



Question Number : 134 Question Id : 93806613719 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In case the income of an individual includes the income of 325,000 of his minor
child in terms of section 64(IA), such individual shall be entitled to an exemption
under section 10 (32) of:

1.325,000
2.X1,500
3.32,500
4.X15.000
Options :
93806653433. 1
93806653434. 2
93806653435. 3
93806653436. 4

Question Number : 134 Question Id : 93806613719 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tfe U Had DI 3 H URT 64 (1A) B TIR 3D HTIRD d[AP DI 25,000
&, I T AMA g df TFT Afdd URT 10 (32) T 3fdTd ¢ DI gHER GH:

1. %25,000
2.%1,500
3.32,500
4.X15,000
Options :
93806653433. 1
93806653434. 2
93806653435. 3
93806653436. 4




Question Number : 135 Question Id : 93806613720 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following requirements have to be satisfied in order that an
assessee 1s entitled to claim deduction under section 91 for doubly taxed income?

A. The assessee must have been non- resident in India in the relevant previous
year.

B. The assessee must have been resident in India in the relevant previous year.

C. Income must have been accrued or arisen to him during that previous year in
India.

D. Income must have been accrued or arisen to him during that previous year
outside India.

E. In respect of that income which accrued or arouse outside India, he must
have paid by deduction or otherwise tax under the law in force in the country
in question.

Choose the correct answer from the options given below:

1. Aand C Only

2. B and D Only

3. B, D and E Only

4. A, C and E Only
Options :
93806653437. 1
93806653438. 2

93806653439. 3
93806653440. 4



Question Number : 135 Question Id : 93806613720 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U TR BT Fraferlad o A foo ST drsii &l U1 &= gRT o/
dg Glg Y DY drclt 31T & folU ¢RT 91 & aiid el &I Gral I B
EPHGR BT

A. Feffed Ta fiod o & yRa # sifardt w18

B. FeRdl 71 [Ued av 8 YRd H HaRii w®i g

C. 3 HRd ¥ 39 [Uod 94 & R 34 WK g5 6!

D. 31 HRd Y 916 39 [USd 94 & aRM I U 85 o

E. YRd & |16 Wk 31 & e J Halerd o= H 39 peldl & gRI Al

YT 3 <X H AN ST & TR B BT YA [T g
414 fau e fasdbedi o |gl 3 94

1. Had A 3R C
2. HAd B 3R D
3. HAd B, D 3R E
4. DAA A, C 3R E

Options :

93806653437. 1
93806653438. 2
93806653439. 3
93806653440. 4

Question Number : 136 Question Id : 93806613721 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arm's length price as per section 92F is the price applied or proposed to be
applied when:

1. two unrelated persons enter into a transaction in uncontrolled conditions
2. two related persons enter into a transaction in uncontrolled conditions

3. two unrelated persons enter into a transaction in controlled conditions

4. two related persons enter into a transaction in controlled conditions

Options :

93806653441. 1
93806653442. 2
93806653443. 3
93806653444. 4



Question Number : 136 Question Id : 93806613721 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR 92F P 3R TR oY WI5H a8 Wgd ¢ Sil a1 faar 71 § a1 @) fhw
oI & o i &

1. &I 3sfd HAfad ifHdEd <xmsii ° a-¢4 &d o
2. &l Aafed aafad si-afEd exmefi § dH-cd d ©
3. Gl 3fHafed Hfad HafEd exmsfi § dH-¢cd dd o
4. &I A&lSd Afad FAEd s § 9H-¢7 Fd o

93806653443. 3
93806653444. 4

Question Number : 137 Question Id : 93806613722 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Any assessee (except an eligible assessee in respect of an eligible business
referred to in section 44 AD or 44 ADA) must pay upto 75 percent of advance
tax payable:

. on or before June 15 of the previous year

. on or before September 15 of the previous year

. on or before December 15 of the previous year
4. on or before March 15 of the previous year

Options :

93806653445 1

93806653446. 2

93806653447. 3

93806653448. 4

Ll D =



Question Number : 137 Question Id : 93806613722 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U AT (YRT44 AD AT 44 ADA H Ifcaiad Ura sga9g & dae 1 g
FTRC 1 B BR ) ST B BT 75 WA db SHHUH B YA DT GI:

1. fU&d ay & 15 9 @I 91 39 Ugal
2. Ued a¥ & 15 Rider &1 91 39 Ugd
3. [0S a¥ & 15 [G9eR ! 91 393 Ugdl
4. Usd ¥ & 15 | &I 91 3T Ugd

Options :

93806653445. 1
93806653446. 2
93806653447. 3
93806653448. 4

Question Number : 138 Question Id : 93806613723 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to tax avoidance?

A. Tax avoidance is legitimate arrangement of affairs in such a way so as to
minimize tax liability.

B. There is an element of malafide motive involved in tax avoidance.

C. Tax avoidance takes into account the loop-holes of law.

D. Tax avoidance is intentional attempt to avoid payment of tax after the
liability to tax has arisen.

E. Tax avoidance is same as tax omission.

Choose the correct answer from the options given below:

1. Aand C Only
2. A, B and C Only
3. B, D and E Only
4. A, C and E Only
Options :
93806653449 1
93806653450. 2
93806653451. 3
93806653452, 4



Question Number : 138 Question Id : 93806613723 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

& URER & de¢ H AgfaRafa 7 9 oar oy st 82

A. PR URGR 34 T8 Y ¢ G § dlfd DR <dl Bl YAdH [T ol Gob |

B. ®% URGR H gUIdT &1 d«d o |

C. HR URER BI-IA I Il Dl U= A U ddl 5

D. $ URER &R oIl 3G B4 & GYIq HR & YT I URER &I
I TR © |

E. PR URBR ®R I & JHH g |

1. Pad A 3R C

2. HAT A, B3R C
3. HAA B, D 3R E
4. P A, C 3R E

Options :

93806653449. 1
93806653450. 2
93806653451. 3
93806653452. 4



Question Number : 139 Question Id : 93806613724 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. If a company is an Indian company, it will automatically be considered as a
domestic company.

B. Foreign company means a company which is not a domestic company.

C. The residential status of an Indian company can be non-resident in India.

D. The residential status of a Foreign company can never be resident in India.

E. Foreign income is taxable in the hands of company resident in India.

Choose the correct answer from the options given below:

1. A, B and C Only
2. B, C and D Only
3. A, C and E Only
4. A, B and E Only

Options :

93806653453. 1
93806653454. 2
93806653455. 3
93806653456. 4



Question Number : 139 Question Id : 93806613724 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFafafad o 9 o 91 $y= 98l 82

A. i Th DUl URA™ DY-I & ol 53 Wk ol ¥R DY HIT ST |

B. fad=ft St &7 ofd § U Ul Sl TR Ul el o |

C. TP YR $U-1 &I FHaril-fufd yrRa & sifHari gl a&di gl

D. U faczi du-l &t Hardt Rufa &t ot ura & et =81 81 9l 8|
E. HRd H Farit bl @1 [aeeli s s g gl

A1) Forw 1w Faed & ) SR 9

1. Pad A, B3R C
2. HAdA B, C 3R D
3. Had A, C 3R E
4. DA A, B3R E

Options :

93806653453. 1
93806653454. 2
93806653455. 3
93806653456. 4



Question Number : 140 Question Id : 93806613725 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-II

Deduction of Tax at source on

A.|[fees for professional and technical | I. |Section 194 B
services

Deduction of Tax at source from

: y II. |Section 193
income by way of rent

Deduction of Tax at source from
C.|winnings from lotteries or III. [ Section 194-1
crossword puzzles, etc.

Deduction of Tax at source from

D.|. e
Interest on securities

IV.|Section 194 ]

Choose the correct answer from the options given below:

1. A5 BN CHED-IV
2. A-IV, B-IIL, C-II, D-I
3. A-IV, B-IIL, C-1, D-II
4. A-I1, B-I, C-1V, D-III

Options :

93806653457. 1

93806653458. 2

93806653459. 3

93806653460. 4



Question Number : 140 Question Id : 93806613725 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Gal-1 & 1Y YAI-I1 BT {Trer Hifore:

LI TalII

ORISR 7 db-11op! Adraii & ferw
Al g R e mad | L [T 194B

feh=ra 2 g arell 3 W, Hld

. 5 IL |¢R7 193
TR PR D] Deldl

Ales] a1 HIuds goled sdife
C.[Slidd WU AR R, WA AR |11 [¢RT 194-
P DI Deldl

D. ;ﬁﬁﬂ%l '”.aqqﬂmqq’@aqq IV.|RT 194 J

A 14U TN f[ddedl § I ol 3R &1 99 Hifofu -

1. A-I, B-II, C-III, D-IV
2. A-IV, B-III, C-II, D-I
3. A-IV, B-III, C-I, D-II
4. A-IL B-1, C-IV, D-III

Options :

93806653457. 1

93806653458. 2

93806653459. 3

93806653460. 4

Sub-Section Number : 2
Sub-Section Id : 938066543
Question Shuffling Allowed : No



Question Id : 93806613726 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Read the following passage and answer the questions:
A mid-sized IT firm in India is facing multiple HR challenges as it expands. The company
recently hired 200 employees but is struggling with high attrition, lack of structured training
program and a weak performance appraisal system. Employees often feel over worked and
underappreciated, leading to low engagement and motivation. The HR manager Priya wants to
improve HR practices by implementing a structured performance appraisal system launching
employee wellness program and using HR technology for recruitment. However she face
resistance from senior management, who think those initiative will increase cost without direct
financial benefits.
Additionally, employee feedback indicates dissatisfaction with work life balance and unclear
career progression. Some employees also feel that promotions are biased and that the company
lack a proper succession plan.
Priya is considering introducing flexible work arrangements, setting up leadership development
program and adopting Al- driven HR analytics to improve decision making. However, she needs
to convince top management of the long term benefits of these changes.

Sub questions

Question Number : 141 Question Id : 93806613727 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Priya needs to address employee dissatisfaction with career progression. What
should be her first step?

1. Encouraging empoyee to find new jobs

2. Reducing training budgets

3. Conducting skill gap analysis and creating career development plan
4. Promoting only senior employee

Options :

93806653461. 1
93806653462. 2
93806653463. 3
93806653464. 4

Question Number : 142 Question Id : 93806613728 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which strategy would be most effective in retaining employees and reducing
attrition rate?

1. Making the resignation process more difficult

2. Increasing workload

3. Offering voluntary retirement

4. Offering increments and career growth opportunities

Options :
93806653465. 1



93806653466. 2
93806653467. 3
93806653468. 4

Question Number : 143 Question Id : 93806613729 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

To convince senior management about HR investments, Priya should highlight:

1. The number of training program conducted
2. The positive feed back of customers
3. The financial impact of HR initiatives on business growth
4. The employees performance appraisal methods
Options :
93806653469. 1
93806653470. 2

93806653471. 3
93806653472. 4

Question Number : 144 Question Id : 93806613730 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If Priya wants to use HR analytics to predict labour turn over, Which data should
she analyse?

1. Employees social media engagements

2. Attrition trends and exit interview feedback
3. The number of training program

4. The number of leaves taken by employees

Options :

93806653473. 1
93806653474. 2
93806653475. 3
93806653476. 4

Question Number : 145 Question Id : 93806613731 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which HR strategy can help to develop future leaders in the organisation?

1. Implementing intensive employee development program
2. Hiring only external candidates for leadership role

3. Implementing performance linked bonus

4. Promoting employees on seniority basis

Options :
93806653477. 1



93806653478. 2
93806653479. 3
93806653480. 4



Question Id : 93806613726 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Frufafad T o ¢ 3R 39 W anutivd wal & I &

YR ¥ 7Y bR & 5] BH Bl U [dKIR & THT 3Hd TISAR ATl Bl JH-l
B TSI & | 58 U A 51 g 7 200 FHANRA! Bl (YT foban frg I 91 T |
TIP3l Ble-, GAMED URIE HRIGH BT DAl HR SRIHGT Jedih YUllell oI
W%Wmﬁaﬁ?ﬁ%lma@waﬁwm%%wwwaﬂw
d131 g 3R b H1H bl HH WRIgHI B! Sldl g, YRVIMERGEY Fd1 JSd 3R &g HH
BId1 g1 TR TSR U1 SRaHd S SRifFIGT edich UUllell &l Rif-ad &, SHARI
H eI DhY TR PR 3R Yl & [T TSR db-id bl YN R TSR YUIsil § UR
T 3Tgdl g 19U, 39 IRy Ue & UfeRiY &1 G 1 UsSdl ¢ o I8 9i9d ¢ & 39
Ugdl I dFTd J¢711 3R Bis Ul fadia oy =gl gim|

34d HdRdd HHAN Wisdd I Udl dcidl g fb D1d 3fR Sitd- Yda- & Ufd Srdiy 3R
Wﬁmﬁm%lwmwmmmﬁ%ﬁimﬁﬁuﬁ%%ﬁ?
SHU-l & ggfad SWIDR Hifd 981 g

0T Tiici! B R Y= DR, A [dh SRIHH Y= DR 3R [y o i uibar 1
QYR P2 P 70 TS TRrd TR TIfifedd 20 W f3aR & 38 31 quify, Sq 57
URadHl & ¢ PIfeid didl & aR T 20 ya=H bl 1R [GdH &1 Sevd g

Sub questions

Question Number : 141 Question Id : 93806613727 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

0T @t SIRER Wil ¥ §o DHAR! SR Dl gr B DI olexd g | 3D
qgdll Had g Al W

1. SHARTT &I 15 TP Wi & ol UidTed ST

2. UfRI&0T §oic DI HH HIA]

3. DI 3R [IATUT HRAT 3R HRAR IS Gio=1 §1-7
4. $9d IRT HHARY] DI gGa1 1

Options :

93806653461. 1
93806653462. 2
93806653463. 3
93806653464. 4

Question Number : 142 Question Id : 93806613728 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HHATRA] I AP DR G R AlDR] BIS Bl &R B HH B & (AU DI Il
JUHIT &g UHdl gRI

1. GRTYA -1 I Ufchdr Bl 3ff€idh e -]
2. HRHR DI dgHl

3. Wy A4l (gIRT BT WA BRI

4. 904 9i< 3R BRI 9i< HTHR USH DA

Options :

93806653465. 1
93806653466. 2
93806653467. 3
93806653468. 4

Question Number : 143 Question Id : 93806613729 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UG3HR 9% & 99 H aRE Ua=H & GgHd DI & (8 U1 Dl 59 IR
UhT=I ST dlfgU:

1. fobT 1T e SrichH @ HwEn

2. UIEdH| Bl YPRIHAD BISadD

3. U93(R Ugdl &l A9 & dfe R faxig gyE
4. PUARI & DRIFIGA Hedih- &I UGid

Options :

93806653469. 1
93806653470. 2
93806653471. 3
93806653472. 4

Question Number : 144 Question Id : 93806613730 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i O #ffre-e+1311aR &1 Ya-H I & (el TSR TAIIeay ol YA
BT dlgdl o dl 39 fbd Set &l fazayur &1 difgu?

1. PHART &1 A= HITSTT Y S

2. 1B Bl DI UG 3R AIH Bl T IET@HR Hisdd
3. UTRA&UT BRIHH B AT

4, DUAIRAT GRT €l 715 il B Fe

Options :

93806653473. 1
93806653474. 2
93806653475. 3




93806653476. 4

Question Number : 145 Question Id : 93806613731 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BI Ut TI3R I0HIA Tire= | Hidl diex & faara | ggradr S

1. 7T HHAR] [dPR SIdHH AR BT

2. Adcd Y{TDT & oY Had dIgdl IR &l I@HI
3. DRFAYEA ¥ O[S a9 & AR HAl

4. DAIRAT DI IRYAT &b SR UR YaIAd DAl

Options :

93806653477. 1

93806653478. 2

93806653479. 3

93806653480. 4

Sub-Section Number : 3
Sub-Section Id : 938066544
Question Shuffling Allowed : No



Question Id : 93806613732 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Read the following passage and answer the questions:

A large real estate company in India is facing challenges in raising funds for expansion. Despite
solid track record the company is struggling to attract investors due to increasing concern about
liquidity in the financial market. The company has earlier relied on bank loans and debt
instruments for financing but now looking for other funding option.

The CFO of the company is evaluating different option such as corporate bonds, Private equity,
public deposit and securitization to raise capital. He is also looking at the evolving role of
financial institution such as investment banks, development banks and insurance companies in
providing finance. However, he is concerned about the volatility of the stock market and the risk
of inflation affecting company’s future cashflow.

To address these challenges, the company plan to consult with financial advisors and explore new
avenues of funding, including green bonds and venture capital. The CFO must navigate the
complex world of financial markets to ensure that the company secures the right funding at the
right cost.

Sub questions

Question Number : 146 Question Id : 93806613733 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the main advantage of raising capital through venture capital?

1. To avoid giving up ownership or control
2. To access expertise and guidance from investors
3. To get the fund for a very long term
4. To get a low cost funding
Options :
93806653481. 1
93806653482. 2

93806653483. 3
93806653484. 4

Question Number : 147 Question Id : 93806613734 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What would be the main concern for the company if it has to issue green bonds
for financing?

1. High interest rate
2. Less repayment period
3. Limited investor demand due to niche market

4. Goverment restriction
Options :
93806653485. 1
93806653486. 2
93806653487. 3



93806653488. 4

Question Number : 148 Question Id : 93806613735 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is a primary function of financial markets in the
economy?

1. Facilitating buying and selling of financial instruments
2. Offering financial advice to individual investors

3. Providing loan without collateral

4. Incresing revenues for the Government

Options :

93806653489. 1
93806653490. 2
93806653491. 3
93806653492. 4

Question Number : 149 Question Id : 93806613736 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a volatile stock market, how the company can reduce financing risk when
raising funds through equity?

1. Issue share only when market is at peak

2. Raise funds through long term bonds only

3. Reduce dividend payout to increase internal funds

4. Diversify source of funds by combining debt and equity financing

Options :

93806653493. 1
93806653494. 2
93806653495. 3
93806653496. 4

Question Number : 150 Question Id : 93806613737 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The company is considering corporate bonds as a funding option. Which factor 1s
most likeky to affect the interest rate of bond?

1. The number of projects completed by the company
2. The interest rate on Government securities

3. The credit rating of the bond

4. The level of Foreign Direct Investment

Options :
93806653497. 1



93806653498. 2
93806653499. 3
93806653500. 4



Question Id : 93806613732 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Frofafad T of ¢ 3R 39 W anutivd wal & I &

HRd H U ¥4 Tde Ul [d%dR 8 HIY U Hd B H JHI13]] DI JHE1 3R 3l 6

Ta<iig 9ok © gadl et gawn & HRUT, [9y3d Iudie & aie Hi el &1 e itid Hd

o gy B 3ol B

ﬁuﬁ?ﬁw%%mawwmmwﬁﬁﬁuﬁgwﬁ%mﬁﬂﬁ

Wwigl

DU ol g T BRI Uil UhEid R & fofu fafiyd fadedi S (8 S10s, fHeit 9,

il ST Ul UidYyfd bl bl Gelich- B X1 ¢ | dg fad UaH o4 | fa<dia Sl o1

a3 d, [aB §& a1 S HuHl &1 YFrn! S <7 8T ¢ Y 98 R d6IR Bl

g@mamﬁ%uﬁm%ﬁmmaﬁumﬁﬂaﬂﬁﬁmé@n%ﬁﬁﬁﬁa
I

=4 Il © Fged & g Suet A f9dia SageR 3 el & ayr Sy gl 3R gRd

q1U8 Yigd [ERIUg & 70 did| &1 WIS &R &1 Qo] 9415 | HUAT Tg! dlTd IR Ual By

Uh A B 39 gd G fad SUaR] @l fadid I6R & Sidd SR 61 3{ddidh- S gl

Sub questions

Question Number : 146 Question Id : 93806613733 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SIIREH Usil gRI Yolt U Ed B &1 J¥d A4 &l g2

1. 11 YA (50 & AR I §941

2. A=l I fARNRT Y™ 9uT ARTGRM UIKd &A1
3. 3ffdl STe 3{Af¥ g DIV UG DRl

4. Y NI IR BIY U &A1

Options :

93806653481. 1
93806653482. 2
93806653483. 3
93806653484. 4

Question Number : 147 Question Id : 93806613734 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DY & [¢1U TR e o1 g1 Al g [ o 8kd d1vs &1 (A i 82

1. 3 IS &3
2. S YA 3{afg

3. 3UYdd SR & BRI AT Md=d 111
4. DR urdfedi

Options :




93806653485. 1
93806653486. 2
93806653487. 3
93806653488. 4

Question Number : 148 Question Id : 93806613735 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FraferiRaa 1 3 srlogawn d fa<dia s1oR &1 urufiie o1d gar g2

1. fa<iia Ul & oy qyT [dshy i faer ya= HA1
2. SfaaiTd fHa=ie & faxita gl

3. GHY® BUTYR & [T 0T UaH HIAT

4. RDOR DI Y dHI

Options :

93806653489. 1
93806653490. 2
93806653491. 3
93806653492. 4

Question Number : 149 Question Id : 93806613736 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U ARR W IR | O1F DUt THAT & gRI DIV UHiAd Sl § ol faxig
SIIRaH &I [ UPR &H B Tdbdl o2

1. 312N &1 A Had ad B oid doR 91 JAT R g1

2. BAd GBI d1UGH GRI DY DA B

3. AP BN G P [eTd ATHIRT YIAH HH D

4. FBUI AYT GHAT (9T §RI DI o [dfde Fidl BT UaiT e

Options :

93806653493. 1
93806653494. 2
93806653495. 3
93806653496. 4

Question Number : 150 Question Id : 93806613737 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



DU U 1Y [dhed & &4 H (7 91vgy IR f[aaR R el o | 9 1 8 Di-
I PR dIUSH DI AN & Dl Falfefed YUIfAd B

1. DU gRT YUl 1 115 GRS B e
2. IRDORI Ufdyfddl uR &6 Bl &3

3. d[US &I grd guft

4. Yge [zl (a9 & W

Options :
93806653497. 1

93806653498. 2
93806653499. 3
93806653500. 4



